                                                           1

                           UNITED STATES DISTRICT COURT

                           FOR THE DISTRICT OF COLUMBIA

            - - - - - - - - - - - - - - - - - -X

            UNITED STATES OF AMERICA,          :

                                               :

                      PLAINTIFF,               :

                                               :

                 V.                            : C.A. NO. 98-1232

                                               :

            MICROSOFT CORPORATION,             :

                                               :

                      DEFENDANT.               :

            - - - - - - - - - - - - - - - - - -X

            STATE OF NEW YORK, ET AL.,         :

                                               :

                      PLAINTIFFS,              :

                                               :

                 V.                            : C.A. NO. 98-1223

                                               :

            MICROSOFT CORPORATION,             :

                                               :

                      DEFENDANT.               :

            - - - - - - - - - - - - - - - - - -X

            MICROSOFT CORPORATION,             :

                                               :

                      COUNTERCLAIM-PLAINTIFF,  :

                                               :

                 V.                            :

                                               :

            DENNIS C. VACCO, ET AL.,           :

                                               :

                      COUNTERCLAIM-DEFENDANTS. :

            - - - - - - - - - - - - - - - - - -X  WASHINGTON, D.C.

                                                  JUNE 1, 1999

                                                  2:07 P.M.

                                                  (P.M. SESSION)

                                   VOLUME 63

                               TRANSCRIPT OF TRIAL

                      BEFORE THE HONORABLE THOMAS P. JACKSON

                           UNITED STATES DISTRICT JUDGE

                                                           2

            FOR THE PLAINTIFFS:       DAVID BOIES, ESQ.

                                      STEPHEN D. HOUCK, ESQ.

                                      MARK S. POPOFSKY, ESQ.

                                      KARMA GIULIANELLI, ESQ.

                                      ANTITRUST DIVISION

                                      U.S. DEPARTMENT OF JUSTICE

                                      P.O. BOX 36046

                                      SAN FRANCISCO, CA  94102

            FOR THE DEFENDANT:        JOHN L. WARDEN, ESQ.

                                      STEVEN L. HOLLEY, ESQ.

                                      RICHARD J. UROWSKY, ESQ.

                                      CHRISTOPHER MEYERS, ESQ.

                                      MICHAEL LACOVARA, ESQ.

                                      SULLIVAN & CROMWELL

                                      125 BROAD STREET

                                      NEW YORK, NY  10004

                                      WILLIAM H. NEUKOM, ESQ.

                                      DAVID A. HEINER, ESQ.

                                      THOMAS W. BURT, ESQ.

                                      MICROSOFT CORPORATION

                                      ONE MICROSOFT WAY

                                      REDMOND, WA  98052-6399

            COURT REPORTER:           DAVID A. KASDAN, RMR

                                      MILLER REPORTING CO., INC.

                                      507 C STREET, N.E.

                                      WASHINGTON, D.C.  20003

                                      (202) 546-6666

                                                           3

                                      INDEX

                                                                 PAGE

            FURTHER DIRECT EXAMINATION OF FRANKLIN M. FISHER      4

            GOVERNMENT NO. 1960 ADMITTED                          6

            GOVERNMENT NOS. 1954 AND 1955 ADMITTED                19

            GOVERNMENT NO. 1956 ADMITTED                          43

            GOVERNMENT NO. 1957 ADMITTED                          48

            GOVERNMENT NOS. 1958 AND 1959 ADMITTED                51

            GOVERNMENT NOS. 2054 AND 2055 ADMITTED                52

                                                           4

         1                    P R O C E E D I N G S

         2           THE COURT:  ALL RIGHT.

         3           MR. BOIES:  THANK YOU, YOUR HONOR.

         4                 CONTINUED DIRECT EXAMINATION

         5  BY MR. BOIES:

         6  Q.   PROFESSOR FISHER, IN THE MORNING YOU MENTIONED SOME

         7  TESTIMONY BY VARIOUS MICROSOFT WITNESSES THAT RELATED TO

         8  THE ISSUE OF APPLICATIONS PROGRAMMING BARRIER TO ENTRY,

         9  AND I WOULD LIKE TO SHOW YOU SOME TESTIMONY BY MR. KEMPIN.

        10  YOU DESCRIBED SOME TESTIMONY BY MR. DEVLIN, AND I WOULD

        11  LIKE TO SHOW YOU SOME TESTIMONY BY MR. KEMPIN AND SEE IF

        12  THIS IS PART OF WHAT YOU WERE REFERRING TO.

        13           (DOCUMENT HANDED TO THE WITNESS.)

        14  Q.   AND IN THAT CONNECTION, I WOULD LIKE TO REFER YOU TO

        15  PAGE 98 OF THE FEBRUARY 25, 1999, TRIAL TRANSCRIPT, THE

        16  AFTERNOON SESSION.  AND PARTICULARLY, BEGINNING ON LINE 15

        17  OF PAGE 98, AND THIS FOLLOWS A GENERAL DISCUSSION ABOUT

        18  LOOKING AT WINDOWS 95 PRICES AND PRICING WINDOWS '98, AND

        19  THIS IS A QUESTION THAT'S BEING READ TO MR. KEMPIN FROM

        20  HIS DEPOSITION, (READING):

        21                "QUESTION:  DID YOU CONSIDER COMPETITION

        22           MORE GENERALLY IN CONSIDERING WHAT LEVEL OF

        23           ROYALTIES FOR WINDOWS 98 SHOULD BE?

        24                ANSWER:  AGAIN, I SAID I LOOKED AT THE

        25           COMPETITORS, BUT WINDOWS 95 OR 98, WHEN IT COMES
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         1           TO VALUE PROPOSITIONS.  IT JUST DOESN'T COME

         2           CLOSE TO ANYTHING ELSE; MEANING, I BELIEVE, THE

         3           COMPETITORS ARE BASICALLY SELLING INFERIOR-TYPE

         4           PRODUCTS.

         5                QUESTION:  WHAT IS THE BASIS FOR YOUR BELIEF

         6           TO THAT EFFECT?"

         7           AND THEN CONTINUING ON TO PAGE 98, (READING):

         8                "ANSWER:  IT'S THE SIMPLE FACT THAT THE

         9           NUMBER OF APPLICATIONS, PERIPHERAL DEVICES,

        10           SUPPORT ON THAT PLATFORM, BASICALLY, IS SO HUGE

        11           THAT THE BENEFITS FOR BEING INTO THAT PLATFORM IS

        12           HUGE."

        13           DOES THAT HAVE ANY SIGNIFICANCE FOR YOUR ANALYSIS

        14  OF APPLICATIONS PROGRAMMING BARRIERS TO ENTRY?

        15  A.   SURE.  ONE DOESN'T EXPECT MR. KEMPIN TO SAY THERE I

        16  AM PROTECTED BY THE APPLICATIONS BARRIER TO ENTRY, AND SO

        17  I HAVE FREEDOM AS TO PRICING.

        18           WHAT HE IS SAYING THERE IS, HOWEVER, THE

        19  PERCEPTION THAT YOU WOULD EXPECT HIM TO HAVE, GIVEN THAT

        20  MICROSOFT IS SO PROTECTED.  WHAT HE'S SAYING IS WE DO

        21  NOT--IN CONSIDERING OUR PRICING, WE DO NOT HAVE TO WORRY

        22  ABOUT OPERATING SYSTEM COMPETITORS.

        23           WHY NOT?

        24           BECAUSE THE APPLICATION--THE NUMBER OF

        25  APPLICATIONS WRITTEN FOR US IS SO HUGE THAT THE BENEFITS
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         1  OF BUYING INTO OUR PLATFORM ARE SO HUGE.  AND AS A RESULT,

         2  THE COMPETITORS ARE PRODUCING, ESSENTIALLY--BASICALLY

         3  SELLING INFERIOR-TYPE PRODUCTS.

         4           THAT IS THE RESULT OF THE APPLICATIONS BARRIER TO

         5  ENTRY, AND IT'S A FAIRLY CLEAR STATEMENT.

         6  Q.   I WOULD NOW LIKE TO TURN TO PROFESSOR SCHMALENSEE'S

         7  PRICING ANALYSIS.

         8           AND YOU'RE FAMILIAR WITH THAT PRICING ANALYSIS,

         9  ARE YOU NOT, SIR?

        10  A.   I AM.

        11  Q.   AND AS YOU UNDERSTAND IT, HOW DOES PROFESSOR

        12  SCHMALENSEE USE THAT PRICING ANALYSIS?

        13  A.   PROFESSOR SCHMALENSEE ENGAGES IN A PRICING ANALYSIS

        14  WHICH IS DESIGNED TO SHOW THAT THE PRICE OF WINDOWS IS TOO

        15  LOW TO BE CONSISTENT WITH THE PROPOSITION THAT MICROSOFT

        16  HAS MONOPOLY POWER.

        17  Q.   LET ME ASK YOU TO LOOK AT GOVERNMENT EXHIBIT 1960 FOR

        18  IDENTIFICATION, WHICH I WOULD OFFER AT THIS TIME.

        19           MR. LACOVARA:  NO OBJECTION, YOUR HONOR.

        20           THE COURT:  ALL RIGHT.  GOVERNMENT'S EXHIBIT 1960

        21  IS ADMITTED.

        22                         (GOVERNMENT EXHIBIT NO. 1960 WAS

        23                          ADMITTED INTO EVIDENCE.)

        24  BY MR. BOIES:

        25  Q.   NOW, WOULD YOU EXPLAIN WHAT THIS FORMULA DOES.
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         1  A.   YES.  IN PROFESSOR SCHMALENSEE'S ANALYSIS, CERTAIN

         2  ITEMS ENTER:  THE PRICE OF A PC, INCLUDING THE PRICE OF

         3  THE OPERATING SYSTEM, IS ONE OF THEM; THE ELASTICITY OF

         4  DEMAND FOR PC'S--THAT'S A MEASURE OF HOW PRICE-SENSITIVE

         5  DEMAND FOR PC'S ARE.  AND FROM THAT, YOU CAN DERIVE THE

         6  ANSWER TO THE QUESTION, IF THERE IS MONOPOLY POWER IN THE

         7  FORM IN WHICH PROFESSOR SCHMALENSEE DESCRIBES IT, WHAT

         8  WOULD HAVE TO BE THE SUM OF THE PRICE OF WINDOWS AND THE

         9  NET REVENUE FROM COMPLEMENTARY ITEMS SUCH AS OFFICE AND SO

        10  FORTH THAT ARE SOLD WITH WINDOWS, IN ORDER FOR THIS TO BE

        11  CONSISTENT WITH SHORT-RUN MONOPOLY PROFIT MAXIMAZATION.

        12           THIS FORMULA IS ESSENTIALLY PROFESSOR

        13  SCHMALENSEE'S FORMULA, WHICH HAPPENS--AND IT HAPPENS TO BE

        14  ORGANIZED SO THAT THE NET REVENUE FROM COMPLEMENTARY GOODS

        15  APPEARS ON THE LEFT, BUT IT COULD JUST AS WELL BE IN OTHER

        16  FORMS.

        17  Q.   FIRST, REGARDLESS OF WHAT THE RESULTS ARE OF THIS

        18  CALCULATION, DO THOSE RESULTS TELL YOU WHETHER OR NOT

        19  MICROSOFT HAS MONOPOLY POWER?

        20  A.   NO.  AS I TESTIFIED IN JANUARY, AT MOST, THEY TELL

        21  YOU WHETHER OR NOT MONOPOLY--WHETHER OR NOT MICROSOFT IS

        22  TAKING OUT ITS PROFITS, WHETHER IT'S MAXIMIZING PROFITS IN

        23  THE SHORT-RUN PRICE OF WINDOWS AND PERHAPS THE

        24  COMPLEMENTARY--WITH THIS ADDITION IN THE COMPLEMENTARY

        25  REVENUES.
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         1           AND THE PROPOSITION THAT ONE COULD CONCLUDE, IF

         2  YOU THOUGHT THAT HIS ANALYSIS IS CORRECT, IS THEY ARE NOT,

         3  BUT THAT PROPOSITION WOULD OCCUR REGARDLESS OF WHETHER

         4  THEY HAVE MONOPOLY POWER.

         5           TO PUT IT A LITTLE DIFFERENTLY, THE TESTIMONY WE

         6  JUST LOOKED AT FROM MR. KEMPIN IS THE TESTIMONY OF

         7  SOMEBODY WHO IS DOING PRICING WITH A GOOD DEAL OF MONOPOLY

         8  POWER IN MIND.  HE DOESN'T HAVE TO WORRY ABOUT THE

         9  COMPETITION.  THE REASONS THAT HE CHOOSES THE PRICE HE

        10  DOES MAY, IN FACT, BE COMPLICATED OR THEY MAY BE SIMPLE,

        11  BUT IT DOESN'T MATTER WHAT PROFESSOR SCHMALENSEE'S

        12  ANALYSIS SHOWS.  THAT MONOPOLY POWER ISN'T GOING AWAY, AND

        13  PROFESSOR SCHMALENSEE'S ANALYSIS WOULD, AT BEST, SIMPLY

        14  SHOW THAT MICROSOFT IS DOING SOMETHING OTHER THAN

        15  MAXIMIZING ITS SHORT-RUN PROFITS IN THE PRICE OF ITS

        16  WINDOWS AND ASSOCIATED PRODUCTS.

        17           AND, IN FACT, I DON'T THINK THE ANALYSIS IS

        18  RIGHT.  THAT'S A DIFFERENT POINT.

        19  Q.   I WANT TO COME TO THE ISSUE AS TO WHETHER PROFESSOR

        20  SCHMALENSEE HAS DONE THE MATHEMATICAL ANALYSIS CORRECTLY

        21  OR NOT.  BUT, ASSUMING FOR A MOMENT THAT HE HAD DONE IT

        22  CORRECTLY, WOULD THAT RESULT TELL YOU WHETHER OR NOT

        23  MICROSOFT HAD MONOPOLY POWER?

        24  A.   NO, IT WOULDN'T.  IT WOULD MERELY TELL ME WHETHER OR

        25  NOT--I WANT TO PHRASE THIS SO IT DOESN'T SOUND CONFUSING.
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         1           EITHER ASSUMING MICROSOFT HAS MONOPOLY POWER OR

         2  NOT ASSUMING--OR ASSUMING MICROSOFT DOES NOT HAVE MONOPOLY

         3  POWER, IT DOESN'T MATTER.  PROFESSOR SCHMALENSEE'S

         4  ANALYSIS, IF CORRECT, WOULD LEAVE YOU WITH THE QUESTION,

         5  WHY IS MICROSOFT NOT MAXIMIZING ITS SHORT-RUN PROFITS IN

         6  THE PRICE OF WINDOWS AND THE ASSOCIATED COMPLEMENTARY

         7  PRODUCTS?

         8           IT WOULD TELL YOU--IT WOULDN'T TELL YOU ANYTHING

         9  ABOUT THE POWER ITSELF.  IT WOULDN'T TELL YOU WHETHER

        10  MICROSOFT HAD POWER.  IT WOULD TELL YOU WHETHER IT WAS

        11  EXERCISING POWER IN A PARTICULAR WAY.

        12           LET ME PUT IT, PERHAPS, A LITTLE DIFFERENTLY.

        13           PROFESSOR SCHMALENSEE SAYS, OKAY, LET'S ASSUME

        14  MICROSOFT HAS MONOPOLY POWER, AND THEN HE GOES ON TO ASK,

        15  OKAY, AND IF MICROSOFT HAS POWER AND IT IS MAXIMIZING ITS

        16  PROFITS, THEN YOU SHOULD SEE A CERTAIN RESULT.  I DO NOT

        17  SEE THAT RESULT, SAYS HE; THEREFORE, I CONCLUDE, THAT

        18  MICROSOFT DOESN'T HAVE POWER.

        19           BUT, IN FACT, THE PROPER CONCLUSION IS, I DO NOT

        20  SEE THAT RESULT, AND SINCE I WOULDN'T SEE THAT RESULT--I

        21  DON'T SEE THAT RESULT; AND THEREFORE, EITHER MICROSOFT

        22  DOESN'T HAVE POWER, OR MICROSOFT IS NOT MAXIMIZING ITS

        23  SHORT-RUN PROFITS.  THAT'S THE OTHER ASSUMPTION.  AND

        24  SINCE, IN FACT, YOU COULD DO THE SAME THING WITHOUT

        25  ASSUMING MICROSOFT HAS MONOPOLY POWER AND, SAY, IF
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         1  MICROSOFT WERE MAXIMIZING ITS SHORT-RUN PROFITS WHAT WOULD

         2  YOU SEE, YOU WOULD BE THEN LED TO THE CONCLUSION THAT IT'S

         3  NOT DOING THAT.

         4           SO, THIS WHOLE THING DOESN'T HAVE ANYTHING TO DO

         5  WITH, I THINK, WHETHER MICROSOFT HAS MONOPOLY POWER, EVEN

         6  IF RIGHT.

         7  Q.   NOW, I WOULD LIKE TO TURN TO WHETHER IT'S BEEN DONE

         8  CORRECTLY OR NOT.  AND HAVE YOU DONE AN ANALYSIS TO

         9  DETERMINE WHETHER THE NUMBERS THAT PROFESSOR SCHMALENSEE

        10  HAS USED ARE THE CORRECT NUMBERS TO USE, EVEN ASSUMING THE

        11  FORMULA WAS RELEVANT?

        12  A.   YES.

        13  Q.   AND WHAT DID YOU CONCLUDE?

        14  A.   WELL, YOU DON'T, IN FACT, KNOW THE EXACT NUMBERS THAT

        15  HAVE TO BE USED HERE, AND NEITHER DOES DEAN SCHMALENSEE.

        16  THE QUESTION IS WHETHER FOR PLAUSIBLE NUMBERS YOU CAN

        17  DISCOVER THAT THIS FORMULA YIELDS PRICES OF THE SORT THAT

        18  MICROSOFT SETS.

        19           AND THE CONCLUSION IS YES, WITHIN THE--A, DEAN

        20  SCHMALENSEE GIVES A RANGE FOR AT LEAST ONE OF THESE

        21  ITEMS--THE ELASTICITY OF DEMAND--AND IF YOU USE CERTAIN

        22  PARTS OF THAT RANGE AND MAKE THE OTHER CORRECTIONS I'M

        23  ABOUT TO DESCRIBE, YOU WILL GET THE ANSWER TO--THIS

        24  FORMULA IS SATISFIED.

        25           THE OTHER BIG PIECE IS--THERE ARE TWO OTHER BIG
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         1  PIECES.  ONE HAS TO DO WITH WHAT PRICE YOU ARE GOING TO

         2  USE FOR PC'S, AND THE OTHER HAS TO DO WITH THE FACT THAT

         3  HE MAKES A FAIRLY SERIOUS ERROR IN THE CALCULATION OF

         4  REVENUE FROM COMPLEMENTARY GOODS.

         5  Q.   BEFORE WE GO ON TO THAT, YOU USED THE PHRASE IN YOUR

         6  LAST ANSWER "THIS FORMULA IS SATISFIED."  CAN YOU EXPLAIN

         7  WHAT YOU MEAN BY THAT.

         8  A.   WELL, PUT IT TO YOU THIS WAY:  IF YOU ASSUME MONOPOLY

         9  POWER IN THE FORM THAT DEAN SCHMALENSEE DOES, AND YOU PLUG

        10  IN THE APPROPRIATE NUMBER FOR PRICE OF PC'S, AND YOU PLUG

        11  IN THE APPROPRIATE NUMBER FOR ELASTICITY OF DEMAND, THEN

        12  IF THEY HAVE MONOPOLY POWER, AND IF THEY'RE MAXIMIZING

        13  THEIR PROFITS, YOU OUGHT TO GET NUMBERS--NET REVENUE FROM

        14  COMPLEMENTARY GOODS AND THE PRICE OF WINDOWS 98, WHICH, IF

        15  YOU ADD THEM TOGETHER, HAVE THE PROPERTY THAT, A, WHAT ARE

        16  PREDICTED BY THE RATIO OF THE PRICE OF PC'S TO THE

        17  ELASTICITY OF DEMAND; AND SECOND, THEY MATCH, MORE OR

        18  LESS, WHAT YOU--WHAT ARE THE FACTS ABOUT MICROSOFT'S

        19  PRICES.

        20           DEAN SCHMALENSEE'S BIG POINT IS YOU DON'T GET

        21  THAT.  AND INDEED, HE SAYS YOU DON'T GET ANYTHING NEAR

        22  THAT.  YOU GET A NUMBER THAT IS FAR TOO BIG, AND I DON'T

        23  BELIEVE THAT'S TRUE.

        24  Q.   DO YOU HAPPEN TO HAVE MAGIC MARKERS UP THERE?

        25  A.   I HAVE THREE.  THEY'RE NOT MINE.  THE BAILIFF
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         1  PROVIDED THEM FOR ME.

         2  Q.   IF I COULD BORROW ONE FOR JUST A MOMENT.

         3           ON GOVERNMENT EXHIBIT 1960, YOU HAVE ARRANGED

         4  DEAN SCHMALENSEE'S FORMULA SO THAT IT IS THE NET REVENUE

         5  FROM COMPLEMENTARY GOODS FOR SALE OF WINDOWS 98 THAT

         6  EQUALS THE PRICE OF THE PC SYSTEM OVER ELASTICITY OF

         7  DEMAND FOR THE PC SYSTEM MINUS THE PRICE OF WINDOWS;

         8  CORRECT?

         9  A.   YES.

        10  Q.   NOW, AM I CORRECT THAT YOU COULD ALSO WRITE THIS SAME

        11  FORMULA WHEREBY YOU PUT THE PRICE OF WINDOWS ON THE

        12  LEFT-HAND SIDE?

        13  A.   YES.

        14  Q.   SO THAT YOU WOULD HAVE PRICE OF WINDOWS EQUAL PC

        15  PRICE OVER ELASTICITY MINUS NET REVENUE FROM COMPLEMENTARY

        16  GOODS?

        17  A.   YOU ARE CORRECT.

        18           MR. LACOVARA:  YOUR HONOR, MAY I STAND UP?  I

        19  CAN'T SEE.

        20           THE COURT:  SURE.

        21  BY MR. BOIES:

        22  Q.   AND I WANT TO BEGIN WITH THIS FORMULA FIRST, IF I

        23  CAN, PROFESSOR FISHER, BECAUSE AS I UNDERSTAND IT, IN

        24  ORDER TO HAVE THIS PRICE OF WINDOWS BE THE SHORT-RUN

        25  PROFIT-MAXIMIZING MONOPOLY PRICE FOR WINDOWS, GIVEN THE
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         1  NUMBERS THAT DEAN SCHMALENSEE USES FOR THE PC PRICE, THE

         2  ELASTICITY OF PC DEMAND AND THE NET REVENUE FROM

         3  COMPLEMENTARY GOODS, THIS PRICE OF WINDOWS WOULD HAVE TO

         4  BE MUCH HIGHER, ACCORDING TO DEAN SCHMALENSEE, THAN IT

         5  ACTUALLY IS; CORRECT?

         6  A.   THAT'S RIGHT.

         7  Q.   AND FROM THAT, DEAN SCHMALENSEE CONCLUDES THAT THERE

         8  IS NOT MONOPOLY POWER BECAUSE THERE IS NOT THE EXERCISE OF

         9  MONOPOLY POWER FOR SHORT-RUN PROFIT-MAXIMIZING BEHAVIOR?

        10  A.   YES, HE'S BASICALLY SAYING SOMETHING ELSE--SOMETHING

        11  MUST BE CONSTRAINING THE PRICE OF WINDOWS AND KEEPING IT

        12  DOWN.

        13  Q.   I WANT TO LEAVE ASIDE THE POINT YOU'RE MAKING BEFORE

        14  YOU MIGHT HAVE POWER AND SIMPLY NOT BE EXERCISING THIS

        15  POWER IN THIS FORM FOR A VARIETY OF REASONS, AND I WANT TO

        16  FOCUS ON THE CALCULATION OF THE PRICE OF WINDOWS.

        17           MR. BOIES:  AND IN THAT CONNECTION, LET ME

        18  APPROACH MR. LACOVARA, IF I MAY, YOUR HONOR.

        19           THE COURT:  SURE.

        20           (PAUSE.)

        21  BY MR. BOIES:

        22  Q.   WE WILL--IN ORDER TO USE A NUMBER THAT IS NOT THE

        23  EXACT PRICE BUT IS CLOSE ENOUGH FOR PRESENT PURPOSES, WE

        24  WILL USE A PRICE OF WINDOWS AT $65.

        25  A.   YES.  THAT'S SUPPOSED TO BE THE PRICE TO OEM'S.
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         1  Q.   YES.

         2  A.   YES.

         3  Q.   NOW, IF YOU USE THE PRICE OF WINDOWS AT $65, ARE

         4  THERE REALISTIC PRICES FOR THE OTHER THREE ELEMENTS THAT

         5  WOULD LEAD TO A CALCULATION OF APPROXIMATELY $65?

         6  A.   YOU MEAN REALISTIC VALUES IF YOU HAVE THE THREE

         7  ELEMENTS?  YES, THERE ARE.

         8  Q.   REALISTIC VALUES.

         9           NOW, FIRST, YOU SAID THAT PROFESSOR SCHMALENSEE

        10  HAD ESTIMATED THE ELASTICITY OF DEMAND FOR PERSONAL

        11  COMPUTER SYSTEMS.

        12  A.   HE DOESN'T ESTIMATE IT.  HE GIVES A RANGE, BOTH IN

        13  HIS DEPOSITION AND, I THINK, IN TESTIMONY, SUGGESTING THAT

        14  IT COULD BE ANYWHERE FROM ONE TO SIX.  IN HIS TESTIMONY,

        15  WHEN HE MAKES THE CALCULATION, HE USES A NUMBER--I FORGET

        16  WHERE IT IS--WHETHER TWO OR THREE.

        17  Q.   AND I TAKE IT WHETHER YOU MEASURE THE ELASTICITY AT

        18  ONE OR THE ELASTICITY AT SIX, WOULD HAVE A SIGNIFICANT

        19  EFFECT ON WHAT NUMBER YOU CALCULATE FOR THE PRICE OF

        20  WINDOWS?

        21  A.   OH, YOU BET.  INDEED, IT WILL.

        22  Q.   NOW, FOR THE PC PRICE, IN DEAN SCHMALENSEE'S

        23  CALCULATION, HE USES WHAT NUMBER?

        24  A.   MY RECOLLECTION IS HE USES $2,000.  HE MIGHT USE

        25  2500; I'M NOT SURE.  BUT I KNOW IT'S NOT LESS THAN 2,000.
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         1  Q.   AND ARE YOU AWARE OF ANOTHER NUMBER THAT YOU BELIEVE

         2  WOULD BE MORE APPROPRIATE?

         3  A.   YES.  THE CURRENT ESTIMATED AVERAGE PRICE OF A PC IS

         4  950-SOME DOLLARS.

         5  Q.   NOW, BY USING AN ELASTICITY OF TWO OR THREE AS

         6  OPPOSED TO AN ELASTICITY OF FOUR, FIVE OR SIX, DOES THAT

         7  RESULT IN THE PRICE OF WINDOWS UNDER DEAN SCHMALENSEE'S

         8  CALCULATION GOING UP?

         9  A.   OH, SURE.  THE BIGGER THE ELASTICITY, THE SMALLER

        10  THAT RIGHT-HAND SIDE IS GOING TO BE.

        11  Q.   OKAY.  AND BY USING A NUMBER OF 2,000 AS OPPOSED TO

        12  950 FOR THE PRICE OF THE PC SYSTEM, DOES THAT CAUSE THE

        13  PRICE OF WINDOWS THAT DEAN SCHMALENSEE CALCULATES TO GO

        14  UP?

        15  A.   YES, IT DOES.

        16  Q.   NOW, WITH RESPECT TO NET REVENUE FROM COMPLEMENTARY

        17  GOODS, WHAT NUMBER DOES DEAN SCHMALENSEE USE?

        18  A.   WELL, DEAN SCHMALENSEE MAKES A CALCULATION OF THE NET

        19  REVENUE FROM COMPLEMENTARY GOODS, AND THEN HE SAYS, WELL,

        20  TO BE CONSERVATIVE, I'M GOING TO DOUBLE THAT, AND HE COMES

        21  UP WITH A NUMBER--I DON'T REMEMBER THE EXACT NUMBER, BUT

        22  IT'S ROUGHLY A HUNDRED DOLLARS.

        23  Q.   SO, SCHMALENSEE USES A NUMBER OF ABOUT A HUNDRED

        24  DOLLARS?

        25  A.   YES.  THAT'S AFTER DOUBLING.
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         1  Q.   AND DOES HE MAKE, IN YOUR VIEW, ANY MISTAKES IN

         2  COMING UP WITH THAT NUMBER?

         3  A.   YES, HE MAKES A BIG MISTAKE.

         4  Q.   WHAT IS THAT MISTAKE, OR WHAT ARE THOSE MISTAKES?

         5  A.   OKAY.  WHAT ONE IS TRYING TO DO HERE IS TO COME UP

         6  WITH THE REVENUE THAT MICROSOFT EXPECTS PER DOLLAR OF

         7  REVENUE FOR WINDOWS.  AND FOR THAT PURPOSE, DEAN

         8  SCHMALENSEE BEGINS BY TAKING THE REVENUE OF THE MICROSOFT

         9  APPLICATIONS--I DON'T KNOW IF IT'S CALLED THE DIVISION OR

        10  SECTION--AND DIVIDES BY MICROSOFT'S PLATFORM REVENUES.

        11  AND AT FIRST BLUSH YOU WOULD THINK THAT WAS RIGHT, BUT, OF

        12  COURSE, IT ISN'T RIGHT.  THAT'S BECAUSE MICROSOFT'S

        13  SO-CALLED PLATFORM REVENUES INCLUDE REVENUES, AMONG OTHER

        14  THINGS, FROM WINDOWS UPGRADES, AND WINDOWS UPGRADES ARE

        15  COMPLEMENTARY REVENUES THAT YOU WILL GET BECAUSE YOU SELL

        16  WINDOWS IN THE FIRST PLACE.

        17           AND THERE ARE OTHER RELATED ITEMS.

        18           IF YOU TAKE--THAT MEANS THAT DEAN SCHMALENSEE HAS

        19  PUT INTO THE DENOMINATOR OF THAT FRACTION STUFF THAT

        20  REALLY BELONGS IN THE NUMERATOR, THAT FRACTION BEING THE

        21  RATIO OF, IN EFFECT, COMPLEMENTARY GOODS REVENUE TO

        22  WINDOWS SALES.

        23           IF YOU GO THROUGH THE NUMBERS AGAIN, AND YOU MOVE

        24  FROM THE DENOMINATOR TO THE NUMERATOR, THE SORTS OF THINGS

        25  I'M TALKING ABOUT NOW, OR I JUST TALKED ABOUT, IT'S HARD
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         1  TO TELL EXACTLY WHAT YOU GET, BUT I COME UP WITH THE

         2  NUMBER ON THE ORDER OF $160.  THAT IS BEFORE DOUBLING TO

         3  BE CONSERVATIVE, BY THE WAY.  THIS 160 COMPARES TO ABOUT

         4  50 FOR SCHMALENSEE.  IF YOU DOUBLE THE 160, YOU COME UP

         5  WITH 320.

         6  Q.   NOW, IF YOU USE THE $160 FIGURE FOR COMPLEMENTARY

         7  GOODS NET REVENUE AFTER MAKING THE ADJUSTMENT THAT YOU

         8  DESCRIBED, AND YOU USE THE ACTUAL AVERAGE PRICE OF PC'S OF

         9  950, AND YOU USE AN ELASTICITY OF FOUR OR FIVE OR SIX

        10  WITHIN DEAN SCHMALENSEE'S RANGE, WHAT DO YOU COME UP WITH

        11  AS THE SHORT-RUN PROFIT-MAXIMIZING MONOPOLY PRICE OF

        12  WINDOWS?

        13  A.   WELL, ROUGHLY--LET ME DO AN ILLUSTRATIVE CALCULATION

        14  WHICH EVERYBODY COULD DO IN THEIR HEAD.

        15  Q.   MAYBE EVERYBODY, BUT NOT ME.

        16  A.   NO, NO, NO, TRUST ME.

        17           IF YOU TOOK INSTEAD OF $950 OR THOUSAND DOLLARS

        18  AS THE PRICE OF THE PC, AND YOU TOOK AN ELASTICITY OF

        19  FOUR, THEN THAT FIRST FRACTION WOULD BE A THOUSAND DIVIDED

        20  BY FOUR, WHICH IS NOT ONE OF THE HARDER CALCULATIONS IN

        21  THIS TRIAL, THAT IT WOULD BE $250.

        22           IF YOU TOOK $250 AND SUBTRACTED 160 FOR THE NET

        23  REVENUE, YOU WOULD GET $90 FOR THE PRICE OF WINDOWS.  THAT

        24  COMPARES WITH AN ACTUAL PRICE OF WINDOWS FOR PURPOSES OF

        25  THIS DISCUSSION OF 65, SO YOU WOULD BE VERY CLOSE,
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         1  CERTAINLY NOT NEARLY AS FAR OFF AS DEAN SCHMALENSEE

         2  APPEARS TO THINK.

         3           IF, INSTEAD, OF AN ELASTICITY OF FOUR YOU USED AN

         4  ELASTICITY OF FIVE AND A PRICE OF A THOUSAND DOLLARS, YOU

         5  WOULD GET $200 MINUS 160, OR A NUMBER OF 40 FOR THE PRICE

         6  OF WINDOWS, WHICH IS BELOW THE ACTUAL PRICE.

         7           SO, ONE OUGHT TO CONCLUDE THAT SOMEWHERE BETWEEN

         8  AN ELASTICITY OF FOUR AND ELASTICITY OF FIVE, WHICH ARE

         9  WITHIN DEAN SCHMALENSEE'S PLAUSIBLE RANGE, YOU GET NUMBERS

        10  WHICH COME OUT AT THE ACTUAL PRICE OF WINDOWS.

        11  Q.   LET ME TURN TO ANOTHER SUBJECT, PROFESSOR FISHER, AND

        12  THAT IS THE ISSUE OF FORECLOSURE AND EFFECTS.  AND YOU'RE

        13  FAMILIAR WITH WHAT DEAN SCHMALENSEE SAYS WITH RESPECT TO

        14  THOSE ISSUES?

        15  A.   YES.

        16  Q.   AND HAVE YOU PREPARED SOME CHARTS DESIGNED TO ANALYZE

        17  THE APPROPRIATE RESPONSE TO SOME OF THE POINTS MADE BY

        18  DEAN SCHMALENSEE AS TO WHETHER OR NOT MICROSOFT'S ACTIONS

        19  DID, IN FACT, HAVE A FORECLOSING EFFECT ON NETSCAPE'S

        20  BROWSERS?

        21  A.   YES.

        22  Q.   LET ME ASK YOU TO LOOK FIRST AT GOVERNMENT EXHIBITS

        23  1954 AND 1955, WHICH I WOULD OFFER, AND I'M GOING TO DEAL

        24  FIRST WITH GOVERNMENT EXHIBIT 1955.

        25           MR. LACOVARA:  NO OBJECTION TO EITHER 1954 OR
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         1  1955, YOUR HONOR.

         2           THE COURT:  GOVERNMENT'S EXHIBIT 1954 AND 1955

         3  ARE ADMITTED.

         4                         (GOVERNMENT EXHIBIT NOS. 1954 AND

         5                          1956 WERE ADMITTED INTO EVIDENCE.)

         6  BY MR. BOIES:

         7  Q.   WOULD YOU EXPLAIN, FIRST, WHAT GOVERNMENT

         8  EXHIBIT 1955 SHOWS, AND WHAT SIGNIFICANCE, IF ANY, TO YOU,

         9  SIR.

        10  A.   WELL, YOU WILL RECALL THAT IN MY TESTIMONY, I

        11  PRESENTED DATA ON SHARE OF BROWSER USERS AS MEASURED BY

        12  HITS, COMING FROM A FIRM CALLED "ADKNOWLEDGE."  THIS IS

        13  SHARE OF BROWSER USAGE.  DEAN SCHMALENSEE AND I DIFFER ON

        14  THE QUESTION OF WHETHER YOU WANT TO BE USING SHARE BROWSER

        15  USAGE OR SHARE OF BROWSERS OR SOME OTHER THING, BUT I

        16  BELIEVE THAT SHARE BROWSER USAGE IS THE APPROPRIATE THING.

        17           DEAN SCHMALENSEE CRITICIZES THE USE OF

        18  ADKNOWLEDGE BECAUSE THIS IS A COMMERCIAL SITE, AND BECAUSE

        19  IT MAY HAVE VARIOUS OTHER DEFECTS IN THESE CALCULATION OF

        20  SHARES, WHICH HE BELIEVES TO BE THERE, AND, OF COURSE, I

        21  DO NOT.

        22           NOW, GOVERNMENT EXHIBIT 1955 IS BROWSER SHARES

        23  TAKEN FROM A COMPLETELY DIFFERENT SOURCE, A SITE AT THE

        24  UNIVERSITY OF ILLINOIS IN URBANA-CHAMPAIGN, WHICH IS WHAT

        25  U-I-U-C STANDS FOR, WHICH IS NOT A COMMERCIAL SITE.  AND
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         1  IT GRAPHS BROWSER SHARES FOR THE SAME PERIOD

         2  ROUGHLY--ACTUALLY, FOR A LONGER PERIOD THAN THE

         3  ADKNOWLEDGE DATA DO.  THE BLUE LINE IS NETSCAPE'S SHARE.

         4  THE RED LINE IS THE SHARE OF IE.  THE GREEN LINE IS THE

         5  SHARE OF ALL OTHER.

         6           IF YOU COMPARE THIS TO THE NETSCAPE DATA--THAT IS

         7  WHAT IS SHOWN ON 1954, GOVERNMENT EXHIBIT 1954--WHERE THE

         8  SOLID LINES ARE THE SOLID--ARE THE SHARES FROM ADKNOWLEDGE

         9  DATA, THE DASHED LINE ARE THE SHARES FROM THE UNIVERSITY

        10  OF ILLINOIS DATA, AND ONE CAN SEE THAT THESE ARE

        11  ESSENTIALLY THE SAME THING.  CERTAINLY, THE CONCLUSION TO

        12  BE DRAWN FROM THEM IS THE SAME.

        13  Q.   NOW, LET ME ADDRESS THE ISSUE OF WHETHER IT IS

        14  APPROPRIATE TO TALK ABOUT SHARE OF USAGE.  YOU SAID THAT

        15  YOU BELIEVED THAT THE RIGHT WAY TO LOOK AT IT WAS SHARE OF

        16  USAGE, AND PROFESSOR SCHMALENSEE DISAGREED.

        17           WHY DO YOU BELIEVE THAT THE RIGHT WAY TO LOOK AT

        18  BROWSER SHARE IS SHARE OF USAGE?

        19  A.   THIS CASE IS VERY LARGELY ABOUT THE APPLICATIONS

        20  BARRIER TO ENTRY AND THE INCENTIVES THAT SOFTWARE VENDORS

        21  SEE FOR WRITING TO DIFFERENT KINDS OF PLATFORMS.

        22           IN PARTICULAR, THE NETSCAPE THREAT TO THE

        23  APPLICATIONS BARRIER TO ENTRY HAD TO DO WITH THE

        24  POSSIBILITY THAT SOFTWARE DEVELOPERS WOULD BEGIN WRITING

        25  TO API'S PUT OUT BY NETSCAPE.
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         1           NOW, WHEN A SOFTWARE DEVELOPER LOOKS TO

         2  SEE--SOFTWARE DEVELOPERS ALWAYS WANT TO WRITE APPLICATIONS

         3  THAT WILL GET USED; THAT'S THE WAY THEY MAKE MONEY.

         4  THEY'RE GOING TO LOOK TO SEE WHAT BROWSERS ARE BEING USED,

         5  WHAT ARE THE API'S THAT PEOPLE WILL BE ABLE TO ACCESS OR

         6  WILL WANT TO ACCESS QUITE A LOT.  WHAT'S GOING TO MATTER

         7  THERE IS THE EXTENT OF USAGE OF THE BROWSER, NOT HOW MANY

         8  THERE ARE OUT THERE.

         9           LET ME GIVE AN ILLUSTRATION.  SUPPOSE THERE ARE

        10  TWO COMPANIES A AND B.  A AND B EACH PRODUCE AN EQUAL

        11  NUMBER OF BROWSERS, BUT NOBODY USES A'S BROWSER.  THEY

        12  JUST SIT THERE, AND B'S BROWSER IS USED--IS THE ONLY ONE

        13  THAT'S USED.  IN THAT CASE, SOFTWARE DEVELOPERS ARE NOT

        14  GOING TO WANT TO WRITE FOR A'S BROWSER, BUT WANT TO WRITE

        15  FOR B'S BROWSER, EVEN THOUGH THE SHARE OF BROWSERS WOULD

        16  BE THE SAME.

        17           NOW, JUST SO IT ISN'T SAID THAT I COOKED THIS

        18  EXAMPLE IN WHICH I WAS COUNTING BROWSERS THAT WEREN'T USED

        19  AT ALL, LET'S OBSERVE THAT--LET'S JUST VARY IT A LITTLE

        20  BIT.  SUPPOSE A'S BROWSERS ARE USED BUT USED VERY

        21  SPARINGLY.  PEOPLE WHO USE A'S BROWSERS USE THEM ONCE A

        22  YEAR, BUT THEY WOULD COUNT ONCE OR EVERY TWO WEEKS, AND

        23  THEY WOULD COUNT AS BROWSER THAT ARE BEING USED.  BUT B'S

        24  BROWSERS ARE USED FAR MORE INTENSIVELY, TEN TIMES AS MUCH.

        25  IT'S STILL GOING TO BE TRUE THAT THE INCENTIVE TO SOFTWARE
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         1  DEVELOPERS HAS TO DO WITH THE USE OF THESE BROWSERS, THE

         2  AMOUNT OF USE, AND NOT, IN FACT, WITH THE--I DON'T KNOW

         3  HOW TO DESCRIBE IT--WITH THE SHARE OF BROWSERS IN USE OR

         4  THE SHARE OF PEOPLE USING BROWSERS.  THE AMOUNT OF USE

         5  REALLY MATTERS.

         6           AND I MIGHT SAY THAT'S ENTIRELY CONSISTENT WITH

         7  THE WAY THAT MICROSOFT MEASURES THINGS AND WHAT ITS

         8  WITNESSES HAVE SAID ABOUT USAGE.

         9  Q.   LET ME SHOW YOU WHAT SOME OF WHAT MICROSOFT WITNESSES

        10  HAVE SAID ABOUT BROWSER MARKET SHARE AND HOW TO MEASURE

        11  IT, AND LET ME BEGIN WITH THE TESTIMONY OF BRAD CHASE AT

        12  HIS MARCH 25, 1998, DEPOSITION AT PAGES 96 AND 97,

        13  BEGINNING AT LINE 11 ON PAGE 96, (READING):

        14                "QUESTION:  WHEN YOU SAY, QUOTE,

        15           DISTRIBUTION'S NOT THE ISSUE, CLOSED QUOTE, WHAT

        16           DO YOU MEAN?

        17                ANSWER:  NETSCAPE AND MICROSOFT BOTH HAVE

        18           MANY, MANY WAYS TO GET USERS TO THEIR BROWSER OR

        19           THEIR INTERNET EXPLORER TECHNOLOGIES.  THE ISSUE

        20           IN TERMS OF BROWSER SHARE IS COMMITTING PEOPLE TO

        21           USE YOURS AS OPPOSED TO SOMEONE ELSE'S.

        22                QUESTION:  WHY IS IT THAT USAGE IS THE

        23           IMPORTANT THING AND NOT DISTRIBUTION?

        24                ANSWER:  WELL, FOR EXAMPLE, I DISTRIBUTED

        25           VERSIONS IE 1 AND IE 2 WITH WINDOWS AS PART OF
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         1           THE WINDOWS FROM THE VERY BEGINNING, AND I HAD NO

         2           MARKET SHARE.  I HAD LOTS OF DISTRIBUTION AND NO

         3           USAGE.  USAGE IS WHAT MATTERS.  DISTRIBUTION IS

         4           VERY UNIMPORTANT RELATIVE TO USAGE."

         5           THEN CONTINUING ON TO PAGE 97, (READING):

         6                "QUESTION:  AND WHY IS SHARE OF USAGE AN

         7           IMPORTANT THING--BROWSER USAGE AN IMPORTANT THING

         8           TO MICROSOFT?

         9                ANSWER:  BECAUSE USAGE IS WHAT IMPACTS WHAT

        10           DEVELOPERS DO."

        11           WHAT SIGNIFICANCE, IF ANY, DOES THAT TESTIMONY

        12  HAVE TO WHAT YOU WERE JUST SAYING?

        13  A.   WELL, I BELIEVE THAT'S WHAT I JUST SAID; IN EFFECT,

        14  THAT USAGE IS WHAT MATTERS, AND IT MATTERS BECAUSE IT

        15  IMPACTS WHAT DEVELOPERS DO.

        16           HE ACTUALLY GOES ON TO TALK ABOUT DEVELOPERS SOME

        17  MORE ON THE REST OF THE PAGE.

        18  Q.   LET ME ASK YOU TO LOOK AT MR. POOLE'S TESTIMONY HERE

        19  AT THE TRIAL.  IN PARTICULAR, HIS TESTIMONY ON FEBRUARY

        20  8TH, 1999, AT PAGE--LET'S START AT PAGE 17.

        21           MR. BOIES:  MAY I HAVE JUST A MOMENT, YOUR HONOR?

        22           THE COURT:  YES.

        23           (PAUSE.)

        24  BY MR. BOIES:

        25  Q.   LET ME GO TO PAGE 45, LINE 13, (READING):
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         1                "QUESTION:  NOW, WHEN YOU REFERRED TO MARKET

         2           SHARE OBJECTIVES HERE, WHAT IS THE MARKET THAT

         3           YOU'RE REFERENCING?

         4                ANSWER:  WE ARE REFERRING TO USAGE SHARE

         5           THERE AS WE DISCUSSED BEFORE.

         6                QUESTION:  USAGE SHARE OF WHAT, SIR?

         7                ANSWER:  OF MICROSOFT'S INTERNET TECHNOLOGY,

         8           INCLUDING SPECIFICALLY INTERNET EXPLORER 4--3 AND

         9           4 IN THIS CASE.

        10                QUESTION:  IS THIS WHAT WAS REGULARLY AND

        11           ROUTINELY REFERRED TO WITHIN MICROSOFT AS

        12           `BROWSER SHARE'?

        13                ANSWER:  YES."

        14           AND AGAIN, WHAT IS THE SIGNIFICANCE OF THAT IN

        15  TERMS OF YOUR ANALYSIS?

        16  A.   IS THAT, QUITE SENSIBLY, MR. POOLE AND, INDEED,

        17  MICROSOFT THINKS OF BROWSER SHARE IN TERMS OF USAGE SHARE

        18  BECAUSE THAT'S WHAT MATTERS.

        19           IF THEY DIDN'T, BY THE WAY, THEN THEY WOULD BE

        20  HAPPY JUST TO HAVE--THEN THE SIMPLE FACT THAT IE IS OUT

        21  THERE ON ALMOST EVERY MACHINE THESE DAYS WOULD COUNT AS

        22  BROWSER SHARE, AND MEASUREMENTS OF IE SHARE WOULD BE A LOT

        23  BIGGER.

        24  Q.   NOW, DEAN SCHMALENSEE, YOU'VE TESTIFIED, APPROACHES

        25  BROWSER SHARE DIFFERENTLY, AND YOU'VE EXPLAINED THE
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         1  REASONS WHY YOU DO IT THE WAY YOU DO.

         2           IN ADDITION TO MEASURING SOMETHING DIFFERENTLY,

         3  IN YOUR OPINION, HAS PROFESSOR SCHMALENSEE USED FLAWED

         4  DATA OR USED DATA INCORRECTLY IN THE CALCULATIONS THAT HE

         5  HAS COME UP WITH IN TERMS OF BROWSER SHARE?

         6  A.   OH, YES, I THINK THERE ARE A LOT OF PROBLEMS WITH THE

         7  DATA THAT SCHMALENSEE USES.

         8  Q.   COULD YOU SUMMARIZE THOSE, AND THEN I WOULD LIKE TO

         9  GO THROUGH THEM IN MORE DETAIL.

        10  A.   SURE.

        11           DEAN SCHMALENSEE RELIES ON SURVEY DATA, SURVEY OF

        12  WHAT'S MOSTLY CALLED "MDC DATA," A COMPANY CALLED "MDC."

        13  MDC PRODUCES THIS DATA NOT BY AN ACTUAL COUNT, BUT BY

        14  SAMPLING AND SURVEYING A GROUP OF USERS.  THE GROUP OF

        15  USERS ARE PEOPLE WHO HAVE ACCESS TO THE INTERNET WITHIN

        16  THE LAST--WITHIN THE PREVIOUS TWO WEEKS, AND THEN THEY'RE

        17  ASKED VARIOUS QUESTIONS WHAT BROWSER DID THEY USE, HOW DID

        18  THEY ACQUIRE IT, ACTUALLY WHAT MAIN BROWSER IT IS, AND HOW

        19  DID THEY ACQUIRE IT AND SO FORTH.  THAT'S THE FIRST SET OF

        20  THINGS THAT DEAN SCHMALENSEE RELIES ON.

        21           HE THEN TAKES THOSE NUMBERS AND TRIES TO EXTEND

        22  THEM TO SOME MEASURE OF THE WORLD AS A WHOLE, WHAT HE

        23  CALLS "TOTAL NUMBER OF MAIN BROWSERS" BY MULTIPLYING THEM

        24  BY DATA ON THE NUMBER OF COMPUTERS THAT ACCESSED THE

        25  INTERNET.  NEITHER OF THOSE STEPS ARE WITHOUT CONSIDERABLE
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         1  DANGER, SHALL WE SAY.

         2           NOW, IN THE--

         3  Q.   IN ADDITION TO HAVING DANGER, ARE THERE PROBLEMS

         4  THERE?

         5  A.   YES, YES, YES, YES.  YOU END UP--THERE ARE PLAINLY

         6  PROBLEMS IN THOSE DATA WHICH SHOW THAT THEY REALLY ARE

         7  UNRELIABLE TO USE AND ARE UNLIKELY TO GIVE ACCURATE

         8  RESULTS.

         9           NOW, DO YOU WANT ME TO GO ON, OR DO YOU WANT ME

        10  TO DO THIS IN DETAIL NOW?

        11  Q.   IF YOU COULD JUST LIST THE PARTICULAR DIFFERENT

        12  KINDS, AND THEN I WILL BE HAPPY TO GO THROUGH THEM ONE BY

        13  ONE.

        14  A.   I WOULD BE HAPPY TO.  LET'S START WITH MDC.  MDC ARE

        15  SURVEY DATA, AS I SAID.  SURVEY DATA ALSO PRESENT THE

        16  POTENTIAL PROBLEM BECAUSE THEY'RE WHAT PEOPLE SAY THEY DID

        17  OR WHAT PEOPLE SAID THEY WOULD DO AND NOT A MEASURE

        18  DIRECTLY OF WHAT PEOPLE ACTUALLY DO.  AND SO, THERE IS

        19  ALWAYS A PROBLEM ABOUT HOW, TO USE AN OLD-FASHIONED TERM,

        20  VALID SURVEYS REALLY ARE.  ARE THEY ACTUALLY MEASURING

        21  WHAT THEY PURPORT TO MEASURE?

        22           IN THE CASE OF MDC, THE QUESTIONS THAT ARE ASKED

        23  ARE SUCH THAT THE ANSWERS SOMETIMES CAN BE QUITE CONFUSED,

        24  AND IT'S NOT DIFFICULT TO LOOK AT THE RESULTS OF THE MDC

        25  SURVEY AND SAY SOMETHING IS WRONG HERE.
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         1           ONE EXAMPLE OF SOMETHING--THE WAY YOU KNOW THAT

         2  SOMETHING GOES WRONG HERE, INCIDENTALLY, IS FOR A SHORT

         3  TIME MICROSOFT USED ANOTHER SURVEY FIRM, ROPER-STARCH, TO

         4  DO THE SAME THING, AND ROPER-STARCH CAME UP WITH THE

         5  RESULTS THAT ARE--AND I USED THIS AS A TERM OF

         6  ART--STATISTICALLY SIGNIFICANTLY DIFFERENT FROM THE MDC

         7  DATA.

         8           IN THE SECOND PLACE--AND TO BE A LITTLE BIT MORE

         9  SPECIFIC, THE MDC QUESTIONS DON'T NECESSARILY HAVE A

        10  SINGLE ANSWER.  IT'S NOT EASY TO SEE WHAT PEOPLE ARE

        11  SUPPOSED TO ANSWER IN CERTAIN SITUATIONS.

        12           SECONDLY, THE MDC DATA, WHICH AS DEAN SCHMALENSEE

        13  POINTS, ARE CAREFUL TO TALK ONLY TO PEOPLE--HEADS OF

        14  HOUSEHOLDS, ACTUALLY--WHO USED A BROWSER--ACCESSED THE

        15  INTERNET WITHIN THE PAST TWO WEEKS SO THAT THEY WILL

        16  REMEMBER WHAT THEY DID.  IN FACT, ASK THEM QUESTIONS ABOUT

        17  HOW THEY ACQUIRED THEIR BROWSER, AND THOSE ARE EVENTS THAT

        18  HAPPENED TYPICALLY WELL OVER TWO WEEKS AGO AND MAY, IN

        19  FACT, BE A FAILURE OF MEMORY.

        20           IN THE THIRD PLACE, BECAUSE UNLIKE ADKNOWLEDGE,

        21  WHICH IS A SURVEY OF WHAT PEOPLE ACTUALLY DID AND HAD

        22  MILLIONS OF OBSERVATIONS, A SURVEY IS NATURALLY--THE

        23  SURVEY DATA FOR MDC IS NATURALLY A SAMPLE, AND THE SAMPLE

        24  SIZE IS NOT ENORMOUS--IT'S A PERFECTLY DECENT SAMPLE

        25  SIZE--SO THAT EVENT IF THE MDC DATA MEASURED WHAT THEY
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         1  PURPORT TO MEASURE, THERE IS SOME RANGE OF ERROR AROUND

         2  THOSE MEASUREMENTS.  THAT RANGE DEAN SCHMALENSEE DOES NOT

         3  REPORT, BUT I HAVE HAD CALCULATED, AND IT IS, IN SOME

         4  CASES, QUITE SUBSTANTIAL.

         5           FINALLY--I HOPE THIS IS A COMPLETE LIST--FINALLY,

         6  THE MULTIPLICATION BY THE DATAQUEST NUMBERS OF THE NUMBER

         7  OF COMPUTERS ACCESSING THE INTERNET GIVES YOU SOME STRANGE

         8  THINGS.  HAVING SURVEYED HEADS OF HOUSEHOLDS, THE NUMBER

         9  IS--WHO DO ONE THING OR ANOTHER, THE NUMBERS ARE

        10  MULTIPLIED NOT BY THE NUMBER OF HEADS OF HOUSEHOLDS IN THE

        11  UNITED STATES BUT BY THE NUMBER OF COMPUTERS ACCESSING THE

        12  INTERNET.  IT'S HARD TO TELL EXACTLY WHAT THAT

        13  MULTIPLICATION MEANS, BUT I COULD TELL YOU FROM

        14  CONSIDERING MY OWN HOUSEHOLD THAT IT'S NOT GOING TO GIVE

        15  YOU ACCURATE INFORMATION AS TO WHAT BROWSERS ARE IN USE OR

        16  WHERE THEY WERE OBTAINED FROM.  THE NUMBERS, I THINK, TEND

        17  TO OVERESTIMATE STRONGLY THE NUMBER OF MAIN BROWSERS, AND

        18  THEY ATTRIBUTE TO THE BEHAVIOR OF ALL THE BROWSERS--THE

        19  BEHAVIOR--THEY ATTRIBUTE THE BEHAVIOR OF ALL THE BROWSER

        20  USERS TO THE BEHAVIOR OF THE HEAD OF HOUSEHOLD.

        21  Q.   LET ME ASK YOU TO LOOK AT THE OCTOBER 9, 1998,

        22  DEPOSITION OF WILLIAM SVENSEN FROM MDC.

        23           AND IS THIS A DEPOSITION THAT YOU HAD AN

        24  OPPORTUNITY TO REVIEW BEFORE?

        25  A.   WELL, I CERTAINLY LOOKED AT PART OF IT.  I DON'T
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         1  REMEMBER AT THE MOMENT WHETHER I READ IT ALL.

         2  Q.   LET ME BEGIN AT PAGE 111, LINE 21, CONTINUING ON TO

         3  PAGE 113, LINE 1, (READING):

         4                "QUESTION:  WHAT IF A PARTICULAR SURVEY

         5           PARTICIPANT HAS AMERICA ONLINE NOT AS A BROWSER

         6           BUT AS AN ONLINE SERVICE AND THEY SAY

         7           `AMERICA ONLINE'?  IS THERE ANY EFFORT MADE ON

         8           THE PART OF THE INTERVIEWEE TO CLARIFY WHETHER

         9           THEY'RE SAYING AMERICAN ONLINE IS JUST THE ONLINE

        10           SERVICE OR AMERICA ONLINE'S OWN PARTICULAR

        11           BUILT-IN WEB BROWSER?

        12                ANSWER:  WELL, AGAIN, I MEAN, THE WAY THE

        13           QUESTION SEQUENCE GOES IS THE QUESTION BEFORE

        14           THIS IS, THE LAST TIME YOU CONNECTED TO THE

        15           INTERNET OR THE WORLD WIDE WEB, WHICH, IF ANY, OF

        16           THE FOLLOWING ONLINE SERVICES OR INTERNET ACCESS

        17           PROVIDERS DID YOU USE?  AMERICA ONLINE,

        18           COMPUSERVE, PRODIGY, MICROSOFT NETWORK, AN

        19           INDEPENDENT ACCESS PROVIDER, A CORPORATE NETWORK,

        20           A GATEWAY OR SOME OTHER SERVICE?  SO, WE ASKED

        21           THEM WHAT SERVICE DID YOU USE, AND THEN DURING

        22           THAT SAME CONNECTION, WHICH OF THE FOLLOWING

        23           SOFTWARE PROGRAMS DID YOU USE, IF ANY?

        24                SO, IT KIND OF COMES DOWN TO THE RESPONDENT,

        25           IF THEY DON'T KNOW, IF THEY'RE USING--THEY MIGHT
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         1           BE USING AMERICA ONLINE AND NOT KNOW IT HAS

         2           ANYTHING TO DO--THEY MIGHT BE USING INTERNET

         3           EXPLORER AND NOT KNOW IT.

         4                QUESTION:  RIGHT.

         5                ANSWER:  SO, IF THEY DON'T TELL US

         6           INTERNET--SEE, AMERICA ONLINE IS THE ACCEPTABLE

         7           CODE.  WE HAVE A BUILT-IN CODE NUMBER 21 FOR

         8           AMERICA ONLINE.  IF SOMEBODY SAYS AMERICA ONLINE

         9           IN THIS QUESTION, THAT'S WHERE IT GOES."

        10           AND THEN I WOULD LIKE AT THE SAME TIME TO ASK YOU

        11  TO LOOK AT PAGE 114, LINES SEVEN THROUGH 20, (READING):

        12                "QUESTION:  OKAY.  I WAS JUST WONDERING IF

        13           THE INTERVIEWEE WAS INSTRUCTED IN ANY WAY IF

        14           SOMEBODY SAID AMERICA ONLINE TO DO FURTHER

        15           INQUIRY TO MAKE SURE IT'S NOT JUST THE ONLINE

        16           SERVICE, THAT THAT'S THE ACTUAL AMERICA ONLINE

        17           BROWSER?

        18                ANSWER:  (NEGATIVE RESPONSE.)

        19                QUESTION:  NO, OKAY.

        20                ANSWER:  NO, BECAUSE LIKE I SAY, THE

        21           QUESTION SPECIFICALLY STATES WHICH OF THE

        22           SOFTWARE PROGRAM, SO IF THEY STILL THINK THE

        23           PROGRAM THAT THEY'RE USING IS AMERICA ONLINE,

        24           THEN THAT'S WHAT WE PUT DOWN.

        25                QUESTION:  OKAY.
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         1                ANSWER:  IT'S NOT OUR JOB TO EDUCATE

         2           RESPONDENTS AS TO WHAT SOFTWARE THEY'RE USING."

         3           WHAT SIGNIFICANCE, IF ANY, DOES THAT HAVE TO YOUR

         4  ANALYSIS OF THE APPROPRIATENESS OF USING THE RESULTING MDC

         5  DATA?

         6  A.   I SUPPOSE IT DEPENDS ON THE PURPOSE FOR WHICH YOU USE

         7  IT, BUT THESE QUESTIONS--THESE--THIS PART ILLUSTRATES THAT

         8  THE TAKER OF THE SURVEY IS WELL-AWARE OF THE PROPOSITION

         9  THAT THE RESPONDENTS MAY, IN FACT, BE CONFUSED IN

        10  ANSWERING CERTAIN OF THE QUESTIONS.  AND I THINK THERE IS

        11  EVIDENCE THAT THEY MAY, IN FACT, BE CONFUSED IN ANSWERING

        12  MORE OF THE QUESTIONS.

        13           AND THE SURVEY TAKER DOESN'T ATTEMPT TO CORRECT

        14  FOR THAT.

        15  Q.   LET ME ASK YOU TO LOOK AT PAGE 121, LINE 16,

        16  CONTINUING ON TO 123, LINE 4, (READING):

        17                "QUESTION:  I WAS ASKING YOU A QUESTION

        18           ABOUT Q6M, `WHERE DID YOU OBTAIN THAT BROWSER,'

        19           ON PAGE TWO OF EXHIBIT 4?

        20                NOW, I HAD ASKED YOU WHAT YOU UNDERSTOOD THE

        21           TERM `DOWNLOADED IT' TO MEAN, AND YOU INDICATED

        22           DOWNLOADED IT--YOU SAID FROM THE WORLD WIDE WEB.

        23                ANSWER:  YEAH, BASICALLY THROUGH MODEM.

        24                QUESTION:  OKAY.  DO YOU UNDERSTAND THAT

        25           THERE COULD BE POTENTIAL CONFUSION IN THE USER'S
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         1           MIND AS TO HOW THEY GET IT?  AND LET ME EXPLAIN

         2           THE SCENARIO?  SOME COMPUTERS HAVE BUILT-IN

         3           WINDOWS 95, AND THEY COULD HAVE AMERICA ONLINE

         4           SERVICE, AND THEN THEY COULD BE PROMPTED, `DO YOU

         5           WANT THE INTERNET,' AND THERE IS AN ICON THEY

         6           COULD CLICK ON, AND THEN THE SOFTWARE POPS UP.

         7                ANSWER:  (AFFIRMATIVE RESPONSE.)

         8                QUESTION:  DO YOU UNDERSTAND OR HAVE YOU

         9           CONSIDERED THAT THERE MAY BE POTENTIAL CONFUSION

        10           THAT A PARTICIPANT MAY VIEW THAT TO BE

        11           DOWNLOADING?

        12                ANSWER:  WELL, I MEAN, IF YOU DO MARKET

        13           RESEARCH LONG ENOUGH, YOU CEASE TO BE SURPRISED

        14           BY ANY MISINTERPRETATION THAT PEOPLE--THAT

        15           SOMEONE COULD MAKE, SO SURE.  I'M SURE THAT COULD

        16           HAPPEN.

        17                QUESTION:  UH-HUH.

        18                ANSWER:  AND, I MEAN, WHO KNOWS?  ANY TIME

        19           YOU GOT SOMEBODY THAT DOESN'T REALLY KNOW WHAT

        20           THE ANSWER IS AND THEY'RE JUST GUESSING--I MEAN,

        21           YOU'RE DESCRIBING A SITUATION WHERE

        22           SOMEBODY--WHERE THE PROPER RESPONSE TO THE

        23           QUESTION IS `DON'T KNOW,' BUT THEY'RE TAKING A

        24           GUESS AS TO WHAT THEY THINK IT WAS.

        25                QUESTION:  OR PROPER RESPONSE IS `CAME WITH
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         1           ME COMPUTER.'

         2                ANSWER:  WELL, NO, FOR THAT RESPONDENT, THE

         3           PROPER RESPONSE IS `I DON'T KNOW.'

         4                QUESTION:  RIGHT.

         5                ANSWER:  BUT RATHER THAN SAYING `I DON'T

         6           KNOW,' THEY'RE TRYING TO BE HELPFUL, AND THEY'RE

         7           TRYING TO TELL US HOW THEY THINK THEY GOT IT.  IF

         8           THEY JUST SAY `I JUST DOWNLOADED IT,' IT'S JUST

         9           GOING TO GO IN, BOOM, TO CODE 13."

        10           AGAIN, WHAT IS THE SIGNIFICANCE OF THAT

        11  TESTIMONY?

        12  A.   WELL, HE'S DESCRIBING, I THINK, FAIRLY CLEARLY ONE OF

        13  THE PROBLEMS, OR A BASIC PROBLEM WITH THIS KIND OF SURVEY

        14  OR THEIR SURVEY IN PARTICULAR, THIS TIME IN CONNECTION

        15  WITH THE QUESTION OF WHERE DID YOU GET YOUR BROWSER, THE

        16  USER MAY NOT, IN FACT, KNOW OR THAT THE USER MAY GUESS ONE

        17  ANSWER APPLIES, WHEN, IN FACT, IT COULD BE ANOTHER.

        18           AND THE EXAMPLE GIVEN, THE USER COULD PERFECTLY

        19  WELL HAVE HAD IE WITH HIS COMPUTER BUT BELIEVED HE GOT IT

        20  DOWNLOADING FROM AOL BECAUSE HE SUBSCRIBED TO AOL.  AND

        21  THAT'S JUST SORT OF A SERIOUS PROBLEM WITH THIS SURVEY,

        22  AND IS ONE THAT YOU HAVE TO BE, AT BEST, EXTREMELY CAREFUL

        23  IN INTERPRETING THE ANSWERS, THE TABULATION OF THE ANSWERS

        24  TO THOSE QUESTIONS.

        25           MR. BOIES:  LET ME ASK THAT THE WITNESS BE
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         1  HANDED, AND I WOULD OFFER, GOVERNMENT EXHIBIT 1957.

         2           MR. LACOVARA:  YOUR HONOR, NO OBJECTION, PROVIDED

         3  THE WITNESS IS PREPARED TO TESTIFY ABOUT WHICH

         4  SPECIFICALLY OF THE MDC DATA THIS COMES FROM.

         5           THE COURT:  ALL RIGHT.

         6           MR. BOIES:  I WILL BEGIN BY ASKING PROFESSOR

         7  FISHER THAT VERY QUESTION.

         8           THE WITNESS:  WELL--

         9           THE COURT:  LET HIM ASK THE QUESTION.

        10           THE WITNESS:  I THOUGHT BY INFERENCE HE HAD.

        11  BY MR. BOIES:

        12  Q.   PROFESSOR FISHER, WHERE DID THE DATA THAT YOU USED TO

        13  PREPARE THIS CHART COMES FROM?

        14  A.   IT COMES FROM MDC DATA, BUT I WOULD HAVE TO CONSULT

        15  MY STAFF TO ANSWER EXACTLY THE QUESTION OF WHAT DOCUMENTS

        16  IT COMES FROM.

        17  Q.   OKAY.  PERHAPS AT THE BREAK, WHAT WE WILL TRY TO DO

        18  IS LOCATE THE SPECIFIC DOCUMENTS AND GIVE THEM TO

        19  MR. LACOVARA.

        20           CAN YOU SAY WHAT THIS DATA SHOWS?

        21  A.   YES.  THIS IS A TABULATION OF THE ANSWERS TO THE

        22  QUESTION HOW PEOPLE WITH WINDOWS 98 AND IE 4 GOT THEIR

        23  BROWSERS, ACCORDING TO MDC DATA.  AND IT'S DONE IN

        24  PERCENTAGE OF THE RESPONDENTS ANSWERING IN ONE WAY OR

        25  ANOTHER.
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         1           AND THERE ARE A COUPLE OF THINGS TO NOTE ABOUT

         2  THIS.  ONE THING TO NOTE IS NOT IMPORTANT FOR THIS CHART

         3  BUT IS IMPORTANT, IN GENERAL, FOR MDC, AND THAT IS THERE

         4  IS A CATEGORY HERE WHICH HAPPENS TO BE ZERO CALLED WORK OR

         5  SCHOOL.  AND IN CALCULATING WHAT FRACTION OF THE

         6  COMPUTER-USING POPULATION GOT THEIR BROWSER FROM A

         7  PARTICULAR--FROM PARTICULAR CHANNELS OF DISTRIBUTION,

         8  WORKER OR SCHOOL OUGHT NOT TO COUNT.  SOMETIMES MDC

         9  ANSWERS INCLUDE A MODERATELY LARGE NUMBER OF PEOPLE THAT

        10  SO SAY "I GOT IT AT WORK," BUT YOU DON'T KNOW HOW THE

        11  WORKPLACE GOT IT OR, AS THE CASE MIGHT BE, HOW THE SCHOOL

        12  GOT IT.  SO, THAT DOESN'T HELP A WHOLE LOT.

        13           NOW, MORE IMPORTANT FOR THIS EXHIBIT, ONE OF THE

        14  THINGS WE KNOW ABOUT WINDOWS 98 AND IE 4 IS THAT NOBODY

        15  GOT WINDOWS 98 WITHOUT GETTING IE 4 AT THE SAME TIME.  AND

        16  ANYBODY WHO BOUGHT A COMPUTER WITH WINDOWS 98 ON IT GOT

        17  IE 4 WITH THEIR COMPUTER.

        18           SURPRISINGLY, HOWEVER, SOMETHING UNDER 20 PERCENT

        19  OF THE SAMPLE, ONLY SOMETHING UNDER 20 PERCENT OF THE

        20  SAMPLE SAY, "I GOT IT WITH MY COMPUTER."

        21           NOW, THERE ARE OTHER POSSIBILITIES, AND THE OTHER

        22  POSSIBILITIES ARE REAL ONES.  ONE OF THE CATEGORIES IN

        23  "OTHER" IN THESE RESPONSES IS "I GOT IT AT RETAIL."  IF

        24  YOU BOUGHT WINDOWS 98 AT RETAIL, WHICH WAS AT LEAST A

        25  POSSIBILITY, YOU WOULD HAVE GOTTEN IE 4 TOGETHER WITH
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         1  THAT, SO THAT'S POSSIBLE.

         2           THE OTHER CATEGORY IN HERE INCLUDES OTHER THINGS

         3  BESIDES THAT.  IT INCLUDES THINGS LIKE, "I GOT IT AS A

         4  GIFT," WHICH DOESN'T HELP.  BUT--AND THERE IS TESTIMONY--I

         5  THINK ROPER-STARCH OBSERVED, SOMEBODY FROM ROPER-STARCH

         6  OBSERVES--NOT TESTIMONY, BUT DOCUMENT, I THINK--PEOPLE MAY

         7  CONFUSE THE QUESTION, "WHERE DID I GET IT" WITH "FROM WHOM

         8  DID I GET IT," WHICH, OF COURSE, IS NOT THE SAME THING.

         9           IN ANY EVENT, EVEN IF YOU SAY THAT ALL OF THE

        10  PEOPLE LISTED AS OTHER WERE GETTING IT AT RETAIL, YOU GOT

        11  IT AT--YOU ADD--YOU GET SOMETHING LESS THAN 40 PERCENT FOR

        12  THEM, SOMETHING LESS THAN 20 PERCENT FOR COMPUTER,

        13  SOMETHING LESS THAN 60 PERCENT OF THE ANSWERS ARE ANSWERS

        14  WHICH ARE CONSISTENT WITH THE PROPOSITION THAT EVERYBODY

        15  WHO GETS WINDOWS 98 GETS--GOT IE 4.

        16           THE OTHER ANSWERS ARE ANSWERS FROM PEOPLE WHO MAY

        17  BE DOING THEIR BEST EFFORT TO REPORT WHAT'S RIGHT BUT

        18  CAN'T LITERALLY BE REPORTING SOMETHING THAT YOU OUGHT TO

        19  TAKE AS GIVEN.

        20           FOR INSTANCE, ANYBODY WHO HAD WINDOWS 98 HAD

        21  IE 4.  THEY, THEREFORE, DID NOT GET IT WITH THE

        22  SUBSCRIPTION.  THEY MAY HAVE THOUGHT THEY GOT IT WITH THE

        23  SUBSCRIPTION BECAUSE WHEN THEY TURNED ON THE COMPUTER IT

        24  SAID, "DO YOU WANT TO SUBSCRIBE TO AN ONLINE SERVICE," AND

        25  THEY SAID, "YES, I WILL SUBSCRIBE TO X."  AND DURING THAT
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         1  PROCESS THEY WERE INFORMED THEY NOW HAD IE 4, AND WHAT

         2  THEY DIDN'T KNOW WAS, IN FACT, IE 4 WAS THERE ALL THE

         3  TIME, AND THE SUBSCRIPTION SERVICE SOFTWARE SIMPLY LOOKS

         4  TO SEE WHETHER IT'S THERE OR NOT.  AND IF IT'S THERE, IT

         5  DOESN'T DO ANYTHING BUT ACTIVATE IT.  SIMILARLY FOR

         6  DOWNLOAD.

         7           THESE ANSWERS ARE NOT REALLY CONSISTENT WITH THE

         8  WAY WE KNOW PEOPLE GOT--WINDOWS 98 USERS GOT IE 4.

         9  THEY'RE VERY PECULIAR.

        10  Q.   LET ME ASK YOU TO LOOK AT GOVERNMENT EXHIBIT 1956,

        11  WHICH I WOULD OFFER AT THIS TIME.

        12           MR. LACOVARA:  YOUR HONOR, NO OBJECTION, PROVIDED

        13  THE WITNESS CAN PROVIDE MORE DETAIL AS TO DEAN SCHMALENSEE

        14  AS THE SOURCE OF THIS.

        15           THE COURT:  I'M SORRY, I MISSED THE POINT OF THE

        16  OBJECTION AGAIN, OR THE QUALIFICATION.

        17           MR. LACOVARA:  IT SEEMS TO REFER TO SOME ASPECT

        18  OF DEAN SCHMALENSEE'S TESTIMONY.

        19           THE COURT:  YOU MEAN WHERE IN SCHMALENSEE'S

        20  TESTIMONY IT COMES FROM?

        21           MR. LACOVARA:  WHAT PROPOSITION OF DEAN

        22  SCHMALENSEE IS THE BASIS FOR THESE CALCULATIONS.

        23  BY MR. BOIES:

        24  Q.   PROFESSOR FISHER, WHEN YOU REFERRED TO NETSCAPE'S

        25  SHARE OF USE ACCORDING TO DEAN SCHMALENSEE, WHAT ARE YOU
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         1  REFERRING TO?

         2  A.   WELL, THERE IS, IN FACT, A SPECIFIC EXHIBIT.  I DON'T

         3  REMEMBER THE EXHIBIT NUMBER, BUT IT HAS TO DO WITH DEAN

         4  SCHMALENSEE'S COMMENTS, I THINK, ON THE ADKNOWLEDGE DATA.

         5  I'M SURE WE WILL FIND IT IN A MOMENT.

         6  Q.   IF YOU TURN TO PAGE E-15, WHICH IS IN THE EXECUTIVE

         7  SUMMARY OF DEAN SCHMALENSEE'S DIRECT TESTIMONY,

         8  DR. FISHER, THAT YOU AND THE COURT HAVE--

         9  A.   OKAY.

        10  Q.   --DO YOU SEE THAT LINE THAT IS LABELED "NETSCAPE'S

        11  SHARE OF WEB-BROWSING SOFTWARE IN USE"?

        12  A.   I DO.

        13           THAT'S NOT IT.

        14  Q.   OKAY.

        15  A.   THE--I MEAN, THE ONE THAT'S BEING SHOWN IS NOT IT.

        16  THE ONE YOU REFERRED TO ME IS THE RIGHT ONE THAT JUST WENT

        17  UP.  THERE WE GO.

        18  Q.   OKAY.  WE HAVE TWO DIFFERENT CHARTS FROM DEAN

        19  SCHMALENSEE, AND LET'S LOOK AT BOTH OF THEM JUST SO THAT

        20  WE ARE CLEAR.

        21           FIRST, LET ME SHOW YOU THE ONE ON E-15.  IT IS

        22  HEADED "NETSCAPE'S SHARE OF WEB-BROWSING SOFTWARE IN USE,"

        23  AND IT GOES FROM THE SECOND QUARTER OF 1996 TO THE THIRD

        24  QUARTER OF 1998; CORRECT, SIR?

        25  A.   WELL, THAT MAY BE RIGHT.  I'M NOT SURE WHETHER IT
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         1  BEGINS IN THE FIRST QUARTER OF 1996 OR THE SECOND QUARTER.

         2  Q.   OKAY.  LET ME ASK YOU TO LOOK AT THE CHART--IF YOU

         3  CAN KEEP BOTH PAGES TOGETHER--THAT IS IN D-21 THAT'S IN

         4  THE APPENDIX TO DEAN SCHMALENSEE'S TESTIMONY.  I'M NOT

         5  SURE YOU HAVE IT THERE.

         6  A.   I DO.

         7  Q.   OKAY?

         8  A.   OKAY.

         9  Q.   AND THAT SHOWS A NETSCAPE SHARE OF 49 PERCENT IN THE

        10  FIRST QUARTER OF 1996; CORRECT?

        11  A.   YES.

        12  Q.   AND A SHARE OF 45 PERCENT IN THE THIRD QUARTER OF

        13  1998; IS THAT CORRECT?

        14  A.   YES.

        15  Q.   AND ARE THOSE THE FIGURES THAT ARE REFLECTED ON

        16  GOVERNMENT EXHIBIT 1956?

        17  A.   THEY'RE TWO OF THE FIGURES THAT ARE REFLECTED ON

        18  GOVERNMENT EXHIBIT 1956.

        19  Q.   THE FIGURES ARE REFLECTED BY THE SOLID LINE?

        20  A.   YES, BY THE SOLID LINE.  THEY SHOW THE BEGINNING AND

        21  THE END OF THE SOLID LINE, AND THE REST THE LINE SIMPLY

        22  CONNECTS THEM.

        23  Q.   AND JUST STAYING WITH THE SOLID LINE FOR A SECOND,

        24  THAT'S WHAT IS LABELED "NETSCAPE'S SHARE ACCORDING TO

        25  SCHMALENSEE"?
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         1  A.   YES.

         2  Q.   AND THAT COMES FROM THESE SHARE NUMBERS ON PAGE D-21

         3  OF PROFESSOR SCHMALENSEE'S DIRECT TESTIMONY?

         4  A.   THAT'S CORRECT.

         5  Q.   NOW, ON GOVERNMENT EXHIBIT 1956, YOU HAVE A DOTTED

         6  LINE, AND WOULD YOU EXPLAIN WHAT THAT DOTTED LINE IS AND

         7  WHY YOU'VE SHOWN THAT COMPARISON?

         8  A.   YES.  IT TURNS OUT THAT FOR 1996 OR, AT LEAST, FOR

         9  THE FIRST QUARTER OF 1996, IT IS POSSIBLE TO CORRECT DEAN

        10  SCHMALENSEE'S NUMBER--HE'S MADE A MISTAKE--AND THAT

        11  CORRECTION--I WILL EXPLAIN WHAT THAT IS IN A MINUTE--THAT

        12  CORRECTION HAS BEEN MADE HERE.  IT IS NOT POSSIBLE TO MAKE

        13  THAT CORRECTION FOR THE REMAINING POINTS ON THE LINE.  WE

        14  HAVEN'T TRIED TO DO THAT, ALTHOUGH IT'S CLEAR, AS I SHALL

        15  POINT OUT, THAT THE CORRECTION WOULD HAVE TO BECOME

        16  SMALLER AS TIME WENT ON.

        17           THE POINT BEING THAT WE KNOW PERFECTLY WELL THAT

        18  FOR ALL RELEVANT PURPOSES DEAN SCHMALENSEE HAD GREATLY

        19  UNDERESTIMATED NETSCAPE'S SHARE AS OF THE FIRST QUARTER OF

        20  1996.

        21  Q.   AND WHAT SIGNIFICANCE, IF ANY, DOES THAT HAVE TO DEAN

        22  SCHMALENSEE'S CONCLUSIONS?

        23  A.   WELL, IN DEAN SCHMALENSEE'S VERSION OVER THIS PERIOD,

        24  NETSCAPE'S SHARE DECLINES FROM ONLY 49 PERCENT TO ABOUT 45

        25  PERCENT, SUGGESTING THERE HASN'T BEEN MUCH EFFECT OF
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         1  MICROSOFT'S ACTIONS.  IN FACT, THAT'S NOT TRUE.  IT

         2  DECLINES, ASSUMING THE 45-PERCENT FIGURE IS CORRECT, IT

         3  DECLINES FROM SOMETHING ON THE ORDER OF 65 PERCENT TO 45

         4  PERCENT, A CONSIDERABLY BIGGER AMOUNT.

         5           MR. BOIES:  YOUR HONOR, I WOULD NOW OFFER

         6  GOVERNMENT EXHIBIT 1956.

         7           MR. LACOVARA:  I STILL OBJECT, YOUR HONOR.  THERE

         8  HAS BEEN NO FOUNDATION FOR EXACTLY HOW THIS ALLEGED

         9  CORRECTION WAS MADE.  THE WITNESS CAN ANSWER THAT--

        10           THE COURT:  I THINK HE'S RIGHT.

        11  BY MR. BOIES:

        12  Q.   HOW DID YOU CORRECT THAT?

        13  A.   I THOUGHT YOU WOULD GET TO THAT.

        14           YES.

        15  Q.   WELL, I'M HERE.

        16  A.   WHAT?

        17  Q.   I'M THERE NOW.

        18  A.   GOOD.  THE ISSUE HAS TO DO WITH WHAT DO YOU DO

        19  TO--ABOUT AOL SUBSCRIBERS WHO REMAIN WITHIN AOL AND NEVER

        20  ACCESS THE INTERNET?  SUBSCRIBERS WHO REMAIN WITHIN AOL

        21  AND NEVER ACCESS THE INTERNET DON'T--SHOULDN'T BE COUNTED

        22  IN ANY OF THIS BECAUSE THEY'RE NOT GENERATING THE INTERNET

        23  USAGE THAT DEVELOPERS WILL SEE.  THEY WERE USING, AS IT

        24  WERE, AN INTERNAL BROWSER.  TO TAKE AN EXAMPLE WHICH MIGHT

        25  MAKE THIS CLEARER, THERE IS AN INTERNAL BROWSER WITHIN
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         1  WINDOWS 95 CALLED "WINDOWS EXPLORER."  LOTS OF PEOPLE USE

         2  THAT.  IF THOSE PEOPLE NEVER ACCESS THE INTERNET, YOU

         3  WOULDN'T WANT TO BE COUNTING THEM.

         4           NOW--

         5           THE COURT:  I THINK THE PREMISE IS CLEAR.  THE

         6  QUESTION WAS WHERE DID YOU GET THE DATA.

         7           MR. LACOVARA:  THAT'S CORRECT, YOUR HONOR.

         8           THE WITNESS:  I'M COMING TO IT.

         9           THE COURT:  ALL RIGHT.

        10           THE WITNESS:  SORRY, THE PREMISE IS CLEAR BECAUSE

        11  IT'S IN THE TITLE.  I HADN'T EVEN NOTICED.

        12           THE COURT:  ALL RIGHT.

        13           THE WITNESS:  YES.  OKAY.  DEAN SCHMALENSEE'S OWN

        14  TESTIMONY SAYS THAT HE KNOWS THAT FOR SOME QUARTERS IN

        15  1996 AND MAYBE FOR ALL OF 1996, ONLY 11 PERCENT,

        16  APPROXIMATELY, OF AOL SUBSCRIBERS ACCESS THE INTERNET.

        17  THE CORRECTION THAT'S BEEN MADE IN THIS OPENING POINT IS

        18  TO TAKE ACCOUNT OF THAT.

        19           THERE ARE A COUPLE OF WAYS OF DOING IT.  THE

        20  SIMPLEST WAY WOULD TO BE SAY, ALL RIGHT, YOU GOT TO TAKE

        21  OUT OF THE DENOMINATOR OF THIS FRACTION--OF THE TOTAL

        22  USERS, YOU'VE GOT TO TAKE OUT 89 PERCENT OF THE AOL

        23  SUBSCRIBERS, AND WE HAVE BEEN A LITTLE BIT MORE

        24  CONSERVATIVE THAN THAT BECAUSE TO DO THAT WOULD BE TO

        25  ASSUME THAT EVERYBODY WHO SAID THEY USED NETSCAPE, IN
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         1  FACT, ACCESSED THE INTERNET, BUT WE HAVEN'T DONE THAT.  WE

         2  HAVE TAKEN OUT--WE ASSUMED 89 PERCENT OF THE PEOPLE WHO

         3  USED NETSCAPE AND ARE AOL SUBSCRIBERS SHOULD ALSO COME

         4  OUT, THAT IT APPLIES TO BOTH OF THEM.  AND IF YOU DO THAT,

         5  YOU GET THE FIRST POINT IN--ON THE DOTTED LINE.

         6  BY MR. BOIES:

         7  Q.   WHEN YOU REFERRED TO DEAN SCHMALENSEE'S TESTIMONY,

         8  LET ME ASK YOU TO LOOK AT PAGE D-54, AND I WOULD ASK YOU

         9  IF THAT'S WHAT YOU ARE REFERRING TO IN TERMS OF THE 11

        10  PERCENT OF AOL SUBSCRIBERS HAVING BEEN ON THE WEB AS OF

        11  SEPTEMBER OF 1996, IN FOOTNOTE SEVEN.

        12  A.   YES, HE SAYS ABOUT 11 PERCENT OF AOL SUBSCRIBERS WERE

        13  ON THE WEB AS OF SEPTEMBER 1996.  AND HE ADDS, "IT SHOULD

        14  BE NOTED THAT AOL SUBSCRIBERS ON THE WEB HAD NOT CHANGED

        15  FOR THE PREVIOUS NINE MONTHS."

        16           THE REASON, BY THE WAY, THAT THIS MAKES A BIG

        17  DIFFERENCE IS THAT IN 1996, A LOT OF AOL SUBSCRIBERS WERE

        18  USING A BROWSER CLASSIFIED AS, QUOTE, OTHER, END QUOTE,

        19  AND WOULD NOT, OF COURSE, HAVE BEEN COUNTED IN

        20  NETSCAPE'S--WOULD NOT BE USING NETSCAPE OR IE.

        21           THE COURT:  SATISFIED, MR. LACOVARA?

        22           MR. LACOVARA:  UNTIL CROSS-EXAMINATION, YES, SIR.

        23           THE COURT:  OKAY.  GOVERNMENT'S 1956 IS ADMITTED.

        24                         (GOVERNMENT EXHIBIT NO. 1956 WAS

        25                          ADMITTED INTO EVIDENCE.)
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         1  BY MR. BOIES:

         2  Q.   LET ME ASK YOU NEXT TO LOOK AT ONE OF DEFENDANT'S

         3  EXHIBITS, DEFENDANT'S EXHIBIT 2290.

         4           (DOCUMENT HANDED TO THE WITNESS.)

         5  Q.   HAVE YOU ANALYZED THIS CHART, DR. FISHER?

         6  A.   YES.

         7  Q.   AND WHAT DOES THIS PURPORT TO SHOW?

         8  A.   DEPENDS HOW KIND YOU WANT TO BE ABOUT WHAT IT

         9  PURPORTS TO SHOW.  I'M SERIOUS.

        10           IT SAYS, "NUMBER OF MAIN BROWSERS OBTAINED WITH

        11  COMPUTER."  AND IF YOU LOOKED AT THE CHART AND THOUGHT NO

        12  MORE ABOUT IT, YOU WOULD THINK THAT THIS WAS, FOR EACH

        13  OTHER QUARTER, THE NUMBER OF MAIN BROWSERS OBTAINED WITH

        14  THE COMPUTER IN THAT QUARTER.  THAT IS NOT, IN FACT, WHAT

        15  IT IS AT ALL.  IF THE NUMBER OF MAIN BROWSERS--IT'S AN

        16  ESTIMATE OF THE NUMBER OF PEOPLE WHO WOULD HAVE SAID IN

        17  EACH QUARTER THAT THEY HAD EVER OBTAINED THEIR MAIN

        18  BROWSER WITH THEIR COMPUTER.

        19           SO THAT, FOR INSTANCE, THE NUMBER FOR THE THIRD

        20  QUARTER 1997 IS NOT AN ESTIMATE OF THE NUMBER OF PEOPLE

        21  WHO OBTAINED THEIR MAIN BROWSERS WITH THEIR COMPUTER FOR

        22  EITHER NETSCAPE OR IE IN THE THIRD QUARTER OF '97, IS THE

        23  NUMBER OF PEOPLE WHO IN THE THIRD QUARTER OF '97 SAID THAT

        24  THEY HAD, AT SOME POINT IN THE PAST, OBTAINED IT.

        25           I MUST SAY THIS IS, ASIDE FROM THE FACT THAT I
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         1  THINK THOSE NUMBERS ARE WRONG--AND I'M PREPARED TO TALK

         2  ABOUT THAT--THE EXHIBIT ITSELF SEEMS TO ME TO BE VERY

         3  MISLEADING.  I CAN KNOW OF NO PURPOSE FOR CONNECTING THE

         4  DOTS ON THIS THING OTHER THAN TO SUGGEST TO THE EYE THAT

         5  THIS IS WHAT'S GOING ON IN EACH QUARTER, AND IT ABSOLUTELY

         6  IS NOT.

         7  Q.   WITH RESPECT TO THE NUMBERS THAT ARE REFLECTED HERE,

         8  YOU ALSO SAID THAT NOT ONLY ARE THESE NOT

         9  QUARTER-BY-QUARTER INCREMENTAL NUMBERS, BUT YOU THOUGHT

        10  THE NUMBERS EVEN AS INSTALLED-BASE NUMBERS WERE WRONG.

        11  CAN YOU EXPLAIN WHY YOU SAY THAT.

        12  A.   YEAH, THERE ARE A COUPLE OF REASONS.  I AVERTED TO

        13  THEM BEFORE, AND I WILL BE A LITTLE MORE EXPLICIT THIS

        14  TIME.

        15           ONE OF THE REASONS IS THE REASON THAT WE SAW IN

        16  LOOKING AT GOVERNMENT EXHIBIT 1957.  IT'S THE SAME SORT OF

        17  THING.  THIS BEGINS WITH THE ANSWER TO THE QUESTION IN THE

        18  MDC SURVEY, "HOW DID YOU OBTAIN YOUR MAIN BROWSER?"  AND

        19  WE HAVE ALREADY SEEN THAT PEOPLE ARE LIKELY TO BE CONFUSED

        20  ABOUT THAT ANSWER.  AND I'VE OBSERVED ALSO THAT THERE IS,

        21  IF YOU--THEY APPEAR TO BE SOMEWHAT SYSTEMATICALLY CONFUSED

        22  IN THAT IF YOU TOOK A SECOND SURVEY, IF ANOTHER COMPANY

        23  TAKES THE SECOND SURVEY, YOU DON'T GET THE SAME ANSWER

        24  BACK.

        25           SECONDLY--SO, THE BASIC NUMBERS WITH WHICH THEY
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         1  START ARE SUSPECT.

         2           SECONDLY, THE BASIC NUMBERS WITH WHICH THEY START

         3  THE MDC SURVEY HAVE A VERY LARGE MARGIN OF ERROR, SAMPLING

         4  ERROR.  EVEN IF PEOPLE WEREN'T CONFUSED, THERE WOULD BE A

         5  SAMPLING PROBLEM HERE, AND THE SAMPLING PROBLEM IS FAIRLY

         6  LARGE.

         7           THIRDLY, THERE IS--THOSE ANSWERS HAD BEEN

         8  MULTIPLIED BY THE NUMBER OF COMPUTERS ACCESSING THE

         9  INTERNET.  AND WHATEVER THAT PRODUCES, IT PRODUCES

        10  SOMETHING WHICH EXTENDS A SURVEY OF HEADS OF HOUSEHOLDS

        11  AND MAIN BROWSERS TO ALL USERS AND MAIN BROWSERS, AND

        12  THAT'S LIKELY TO BE QUITE PECULIAR AND TOO BIG IN NUMBER.

        13           LET ME GIVE YOU AN EXAMPLE.  MY HOUSEHOLD.  NOW,

        14  I'M UNDER OATH, AND MY SON IS SITTING IN THE COURTROOM, SO

        15  I'M NOT GOING TO GO INTO THE QUESTION OF WHO IS THE HEAD

        16  OF HOUSEHOLD, BUT APART FROM THIS, IN MY HOUSEHOLD THERE

        17  ARE FIVE COMPUTERS THAT ARE USED TO ACCESS THE INTERNET

        18  BETWEEN MY HOUSEHOLD AND MY OFFICE.  THERE ARE DIFFERENT

        19  BROWSERS--THERE ARE NOT DIFFERENT BROWSERS ON EACH ONE,

        20  BUT THEY'RE NOT THE SAME AS TO THE BROWSERS.  AND THE TWO

        21  PEOPLE WHO DO THE ACCESSING--MY WIFE AND I--DO NOT, IN

        22  FACT, TYPICALLY USE THE SAME BROWSER.  HER USAGE OF THE

        23  BROWSERS IS CONSIDERABLY GREATER THAN MINE.

        24           WHAT THAT SAYS IS THAT IF WE--IF OUR HOUSEHOLD OR

        25  HOUSEHOLDS LIKE US WERE INCLUDED IN THE SURVEY, YOU WOULD
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         1  BE DISCOVERING BECAUSE THE ANSWER HOW DID YOU GET YOUR

         2  COMPUTER--HOW DID YOU GET YOUR MAIN BROWSER IS BEING

         3  MULTIPLIED BY THE NUMBER OF COMPUTERS USED TO ACCESS THE

         4  INTERNET THAT THERE ARE GOING TO BE FIVE MAIN BROWSERS

         5  COUNTED IN MY HOUSEHOLD, AND THERE AREN'T FIVE.  THERE ARE

         6  TWO.

         7           SECOND PLACE, ASSUMING FOR THE MOMENT THAT I AM

         8  THE HEAD OF HOUSEHOLD, THE FACT THAT I HAPPENED TO USE,

         9  PRINCIPALLY, A NETSCAPE BROWSER IS GOING TO BE ATTRIBUTED

        10  ALSO AS PART OF MY WIFE'S BEHAVIOR, WHERE IT ISN'T TRUE.

        11  SHE USES IE.  I'M SURE MICROSOFT WILL BE GLAD TO KNOW

        12  THIS.  AS A RESULT, NETSCAPE'S SHARE WILL BE OVERCOUNTED.

        13           NOW, I DON'T KNOW THAT SYSTEMATICALLY THIS

        14  OVERCOUNTS NETSCAPE'S SHARE, BUT I DO KNOW THAT YOU CAN'T

        15  MAKE A RELIABLE INFERENCE FROM THINGS LIKE THIS.

        16           THE COURT:  LET'S TAKE A 10-MINUTE RECESS.

        17           (BRIEF RECESS.)

        18           MR. BOIES:  YOUR HONOR, WE DEFERRED ADMITTING

        19  GOVERNMENT EXHIBIT 1957.  DURING THE BREAK, WE INFORMED

        20  MR. LACOVARA THAT THIS DATA COMES FROM THE THIRD QUARTER

        21  OF 1998, AND IT'S MY UNDERSTANDING THAT WITH THAT ON THE

        22  RECORD, HE HAS NO OBJECTION.

        23           MR. LACOVARA:  THAT IS CORRECT, YOUR HONOR.

        24           THE COURT:  ALL RIGHT.  GOVERNMENT'S EXHIBIT 1957

        25  IS ADMITTED.
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         1                         (GOVERNMENT EXHIBIT NO. 1957 WAS

         2                          ADMITTED INTO EVIDENCE.)

         3           MR. BOIES:  LET ME ASK THAT THE WITNESS NEXT BE

         4  HANDED GOVERNMENT EXHIBITS 1958 AND 1959.

         5           (DOCUMENTS HANDED TO THE WITNESS.)

         6  BY MR. BOIES:

         7  Q.   AND PROFESSOR FISHER, COULD YOU IDENTIFY FOR THE

         8  RECORD WHAT THESE EXHIBITS REPRESENT.

         9  A.   YES.  LET ME SEE IF I COULD CUT THIS IN HALF BY

        10  SAYING THAT 1958 IS A GRAPHICAL REPRESENTATION OF WHAT IS

        11  IN GOVERNMENT EXHIBIT 1959, AND I WILL EXPLAIN THEM BOTH

        12  TOGETHER.

        13           I OBSERVED BEFORE THAT THE MDC SURVEY, BECAUSE IT

        14  IS A SAMPLE OF NECESSARILY LIMITED SAMPLE SIZE, IS

        15  SUBJECT--THE RESULTS ARE SUBJECT TO SAMPLING

        16  FLUCTUATION--THERE IS A CERTAIN AMOUNT OF UNCERTAINTY

        17  ABOUT THEM--AS OPPOSED TO THE ADKNOWLEDGE DATA WHERE THERE

        18  ARE MILLIONS OF OBSERVATIONS.

        19           AND APART FROM THE ISSUES I'VE ALREADY DISCUSSED,

        20  NAMELY "ARE THE ANSWERS CONFUSED," AND PARTICULARLY THE

        21  NUMBER OF COMPUTERS--THE NUMBER OF MAIN BROWSERS

        22  CALCULATED BY MULTIPLYING THESE BY THE NUMBER OF COMPUTERS

        23  THAT ACCESS THE INTERNET, IS THAT NUMBER TOO BIG?  THERE

        24  IS THE PURE QUESTION OF HOW BIG IS THE SAMPLING

        25  FLUCTUATION.
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         1           A STANDARD MEASURE OF SAMPLING VARIABILITY IS

         2  SOMETHING CALLED THE 95 PERCENT CONFIDENCE INTERVAL.

         3  ROUGHLY, THAT IS A MEASURE--AN INTERVAL SUCH THAT YOU'RE

         4  95 PERCENT SURE THAT WITHIN THAT--THAT THAT INTERVAL

         5  COVERS THE TRUE NUMBER.  TO TAKE A FAMILIAR EXAMPLE, IN

         6  ELECTION POLLS, WHEN IT'S REPORTED THAT 49 PERCENT OR

         7  WHATEVER FAVOR SOME PARTICULAR OUTCOME, AND THEY ADD THIS

         8  AS A MARGIN OF ERROR OF THREE OR FOUR OR FIVE PERCENTAGE

         9  POINTS, WHAT THEY ARE DOING, IN FACT, IS GIVING YOU A

        10  SLIGHTLY CONSERVATIVE ESTIMATE OF THE 95 PERCENT

        11  CONFIDENCE INTERVAL.

        12           WHAT APPEARS ON 1958 IS A GRAPHICAL

        13  REPRESENTATION OF THE CONFIDENCE INTERVAL SURROUNDING THE

        14  POINTS FOR THE FOUR QUARTERS EXHIBIT, FROM THE FOURTH

        15  QUARTER OF '97 TO THE THIRD QUARTER OF '98 ON DEFENDANT'S

        16  EXHIBIT 2290 FOR THE NETSCAPE NAVIGATOR LINE.

        17           THE RED UPPER LINE IS THE UPPER END OF THE 95

        18  PERCENT INTERVAL.  THE BLUE LOWER END IS THE--THE BLUE

        19  LOWER LINE IS THE LOWER END OF THE 95 PERCENT INTERVAL.

        20  AND FOR EACH OF THE POINTS, ONE CAN SAY THAT THERE IS 95

        21  PERCENT CONFIDENCE THAT THE TRUE NUMBER--THE CORRECT

        22  STATEMENT IS THAT THE INTERVAL BETWEEN THE UPPER POINT AND

        23  THE LOWER POINT COVERS THE TRUE PLACE.

        24           AND AS YOU WILL SEE FROM THE GRAPH, WHEN YOU GET

        25  TO THE NUMBER OF MAIN BROWSERS OBTAINED FROM THE COMPUTER,
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         1  THAT INTERVAL OF UNCERTAINTY, SO TO SPEAK, IS PRETTY BIG.

         2  Q.   LET ME SEE IF I UNDERSTAND WHAT YOU'RE SAYING.  WHEN

         3  YOU SAY THE LOWER BOUND AND THE UPPER BOUND OF THE 95

         4  PERCENT CONFIDENCE INTERVALS, YOU'RE SAYING THAT THERE'S

         5  95 PERCENT CONFIDENCE THAT THE ACTUAL NUMBER IS SOMEWHERE

         6  BETWEEN THE LOWER AND UPPER BOUND?

         7  A.   LET ME SAY YES TO THAT.  THAT LOCUTION IS SOMETHING

         8  THAT WAS BEATEN OUT OF MY IN MY FIRST CLASS IN STATISTICS,

         9  BUT IT'S BASICALLY CORRECT FOR OUR PURPOSES.

        10  Q.   OKAY.

        11  A.   THAT'S WHY I KEEP STOPPING EVERY TIME I SAY IT

        12  BECAUSE IT'S SO NATURAL TO SAY IT THAT WAY.

        13  Q.   OKAY.  LET ME ASK YOU NEXT TO LOOK AT--

        14           THE COURT:  LET ME JUST INTERJECT HERE:  WHY IS

        15  THAT DISFAVORED BY STATISTICIANS?

        16           THE WITNESS:  YOU'RE SURE YOU WANT TO KNOW?

        17           THE COURT:  NO, I'M NOT SURE.

        18           THE WITNESS:  I WILL GIVE IT A TRY.

        19           THE COURT:  BECAUSE THAT'S WHAT I ALWAYS

        20  UNDERSTOOD IT TO BE.

        21           THE WITNESS:  WELL, THAT'S APPROXIMATELY RIGHT.

        22  WHAT WAS BEATEN OUT OF ME--THE REASON I WAS BEATEN UP

        23  ABOUT THIS IN MY FIRST STATISTICS CLASS GOES LIKE THIS:

        24  YOU ARE INCLINED TO INTERPRET THAT AS A STATEMENT THAT THE

        25  PROBABILITY IS 95 PERCENT, THAT THE TRUE POINT LIES INSIDE
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         1  THE INTERVAL.  BUT THE TRUE POINT IS A FIXED NUMBER, AND

         2  IT LIES WHEREVER IT LIES.  THE TRUE POINT IS NOT SUBJECT

         3  TO PROBABILITY.  SO, THERE IS PROBABILITY ONE THROUGH

         4  POINT--THE RANDOM PIECE IS THE INTERVAL, SO THE CORRECT

         5  STATEMENT IS, WITH 95 PERCENT PROBABILITY, THIS INTERVAL

         6  COVERS THE TRUE POINT.

         7           THE COURT:  I FOLLOW YOU.

         8           THE WITNESS:  NOT SOMETHING EVEN I PARTICULARLY

         9  CARE ABOUT.

        10  BY MR. BOIES:

        11  Q.   LET ME ASK YOU TO LOOK NEXT AT GOVERNMENT EXHIBITS

        12  2054 AND 2055.

        13           THE COURT:  ARE YOU OFFERING 1959 AND 58?

        14           MR. BOIES:  YOUR HONOR, I WOULD OFFER

        15  GOVERNMENT'S EXHIBIT 1959 AND 1958.

        16           MR. LACOVARA:  NO OBJECTION.

        17           THE COURT:  GOVERNMENT EXHIBITS 1959 AND 1958 ARE

        18  ADMITTED.

        19                         (GOVERNMENT EXHIBIT NOS. 1958 AND

        20                          1959 WERE ADMITTED INTO EVIDENCE.)

        21           MR. BOIES:  AND I WOULD OFFER GOVERNMENT EXHIBITS

        22  2054 AND 2055 INTO EVIDENCE.

        23           MR. LACOVARA:  NO OBJECTION.

        24           THE COURT:  GOVERNMENT EXHIBITS 2054 AND 2055 ARE

        25  ADMITTED.

                                                           52

         1                         (GOVERNMENT EXHIBIT NOS. 2054 AND

         2                          2055 WERE ADMITTED INTO EVIDENCE.)

         3  BY MR. BOIES:

         4  Q.   PROFESSOR FISHER, WOULD YOU BRIEFLY DESCRIBE

         5  GOVERNMENT'S EXHIBITS 2054 AND 2055 FOR THE RECORD AND TEN

         6  EXPLAIN WHAT SIGNIFICANCE, IF ANY, THERE IS.

         7  A.   2055 IS THE REPORT FROM ZONA RESEARCH OF--OOH, YOU

         8  HAVE THE COLOR VERSION--SORRY--OF A BROWSER STUDY THAT IT

         9  DID FOR MAY 1999.

        10           GOVERNMENT EXHIBIT 2054 IS THE STORY ABOUT THE

        11  ZONA RESEARCH BROWSER STUDY PUT OUT, I BELIEVE, BY

        12  BLOOMBERG, PRESUMABLY ON BLOOMBERG'S WEB SITE.

        13  Q.   AND WHAT IS THE SIGNIFICANCE OF THESE EXHIBITS?

        14  A.   WELL, YOU MAY RECALL THAT BACK IN OCTOBER OF LAST

        15  YEAR, ZONA PUT OUT A STUDY WHICH SEEMED TO SHOW THAT

        16  NETSCAPE WAS GAINING IN SHARE, AGAIN.  AND I RECALL

        17  MR. WARDEN SAYING THIS SHOWED THE GOVERNMENT'S CASE WAS,

        18  YOU KNOW, IN DEEP TROUBLE.  I DON'T REMEMBER THE EXACT

        19  WORDS.

        20           THIS ZONA STUDY SHOWS THAT, IN FACT, NETSCAPE'S

        21  SHARE HAS DECREASED AT LEAST AMONG ENTERPRISES, AND THAT

        22  CORPORATIONS, AND THIS DESPITE THE FACT THAT CORPORATIONS

        23  ARE SUPPOSED TO BE PART OF THE--THE PART OF THE BUSINESS

        24  ON WHICH NETSCAPE IS CONCENTRATING AND MIGHT BE EXPECTED

        25  TO DO BEST.
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         1           YOU WILL NOTE IN PARTICULAR--SEE IF I COULD ADD

         2  THIS UP--ON THE SECOND PAGE OF 2055, 69 PERCENT OF THE

         3  CORPORATIONS HAVE STANDARDIZE OR ENCOURAGES OR STANDARDIZE

         4  ON ONE BROWSER.  AND IF YOU ADD UP WHICH BROWSER IT IS

         5  THAT THEY'RE STANDARDIZING ON--THAT WOULD BE THE THIRD

         6  PAGE, THE TOP GRAPH--YOU HAVE TO ADD UP VARIOUS VERSIONS

         7  BECAUSE THERE ARE SEVERAL MICROSOFT PIECES AND SEVERAL

         8  NETSCAPE PIECES.

         9           BUT IF YOU JUST BEGIN WITH THE BIGGEST PIECE,

        10  MICROSOFT INTERNET EXPLORER IS ALREADY AT--4.X IS ALREADY

        11  AT 57 PERCENT.  YOU HAVE TO ADD INTO THAT 3.X AT THREE

        12  PERCENT, 5.X AT TWO PERCENT.  THAT'S 5 AND 57, THAT'S 62

        13  PERCENT FOR MICROSOFT.  AND IF I HAVE DONE THE ARITHMETIC

        14  RIGHT, THE REST SHOULD ALL BE NETSCAPE.  AND WHAT THAT

        15  SAYS IS THAT MICROSOFT'S ACTIONS CONTINUE TO HAVE AN

        16  EFFECT.  NETSCAPE'S SHARE KEEPS ON GOING DOWN, EVEN IN A

        17  PLACE WHERE IT MIGHT BE EXPECTED TO DO PARTICULARLY WELL.

        18  Q.   I WOULD LIKE YOU TO, IN THE SAME CONNECTION, LOOK AT

        19  GOVERNMENT EXHIBITS 1845 AND 1846, WHICH ARE ALREADY IN

        20  EVIDENCE.

        21           (DOCUMENTS HANDED TO THE WITNESS.)

        22  Q.   THIS IS STATISTICAL INFORMATION THAT MR. CHASE

        23  TESTIFIED TO WHEN HE WAS HERE AT TRIAL.

        24           AND IF YOU LOOK AT 1845 AND 1846, THE BOTTOM OF

        25  EACH OF THOSE CHARTS--
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         1  A.   YES.

         2  Q.   --THAT SHOWS THE TOTAL NUMBER OF USERS OF IE AND

         3  NETSCAPE THAT USE THE BROWSERS AS THEIR CURRENT PRIMARY

         4  BROWSER, ACCORDING TO MR. CHASE?

         5  A.   YES.

         6  Q.   WHAT IS THE INCREASE IN IE OVER THE NINE MONTHS FROM

         7  THE FIRST QUARTER OF '98 TO THE THIRD QUARTER OF '98?

         8  A.   IT'S GONE FROM 13 AND A HALF MILLION TO 20 MILLION.

         9  THAT WOULD BE AN INCREASE OF SIX AND A HALF MILLION.

        10  Q.   AND DURING THE SAME PERIOD, WHAT WAS NETSCAPE'S

        11  INCREASE?

        12  A.   FROM 27 MILLION TO 29 MILLION.  THAT'S AN INCREASE OF

        13  2 MILLION; LESS THAN A THIRD AS MUCH.

        14  Q.   SO THAT OVER THE--THAT NINE-MONTH PERIOD, THE FIRST

        15  THREE QUARTERS OF 1998, WHICH WERE THE LAST THREE QUARTERS

        16  MR. CHASE HAD STATISTICS FOR WHEN HE TESTIFIED, WHAT WAS

        17  MICROSOFT'S SHARE, INCREMENTAL SHARE, OF NEW BROWSERS

        18  SELECTED BY USERS AS THEIR PRIMARY BROWSER?

        19  A.   THAT WOULD BE SIX AND A HALF OUT OF EIGHT AND A HALF.

        20  Q.   MORE THAN 75 PERCENT?

        21  A.   MORE THAN 75 PERCENT.

        22  Q.   LET ME ASK YOU TO LOOK AT WHAT WAS MARKED AS

        23  DEFENDANT'S EXHIBIT 2300, WHICH WAS INTRODUCED WITH DEAN

        24  SCHMALENSEE.

        25           (DOCUMENT HANDED TO THE WITNESS.)
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         1  Q.   AND THIS WAS USED BY DEAN SCHMALENSEE AS, AT LEAST,

         2  SOME EVIDENCE OF THE ABILITY OF NETSCAPE TO GET ITS

         3  BROWSER DISTRIBUTED THROUGH OEM'S.

         4           HAVE YOU ANALYZED THIS EXHIBIT AND THE EVIDENCE

         5  THAT IT'S BASED ON?

         6  A.   I HAVE.

         7  Q.   AND I BELIEVE THAT THIS EXHIBIT FAIRLY REFLECTS THE

         8  FACTS AS THEY EXIST?

         9  A.   NO.

        10  Q.   WOULD YOU EXPLAIN WHY.

        11  A.   SURE.

        12           LET'S START AT THE TOP.  THIS STARTS WITH THE

        13  COMPAQ PRESARIO.  IT SAYS THE COMPAQ HAS 16 PERCENT OF

        14  U.S. CONSUMER SALES, AND THAT THE PRESARIO ACCOUNTS FOR

        15  ESSENTIALLY ALL OF COMPAQ CONSUMER SALES.  THEREFORE,

        16  ABOUT 16 PERCENT OF ALL U.S. CONSUMER SALES HAS NETSCAPE

        17  ON THE DESKTOP.

        18           NOW, A SIDE ISSUE:  WHEN I TESTIFIED IN JANUARY,

        19  I WAS ASKED BY MR. LACOVARA TO CALCULATE WHAT FRACTION OF

        20  U.S. CONSUMER SALES HAD NETSCAPE ON THE DESKTOP, AND I

        21  REPLIED USING--I REPLIED APPROXIMATELY--I FORGET--ON THE

        22  ORDER OF ONE OR TWO PERCENT, AND I WAS ASKED THAT QUESTION

        23  AND ASKED TO USE ONLY INFORMATION AVAILABLE AS OF THE TIME

        24  I TOOK THE STAND.

        25           IN FACT, THE COMPAQ THAT--I WAS THEN CROSSED
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         1  LATER ON THIS COMPAQ DEAL.  IN FACT, THE COMPAQ

         2  ARRANGEMENT TO PUT NETSCAPE ON THE DESKTOP WAS ANNOUNCED

         3  ON JANUARY THE 5TH, THE DAY THAT I TOOK THE STAND, AND

         4  THEREFORE WAS NOT PART OF THE INFORMATION I COULD POSSIBLY

         5  HAVE HAD WHILE I WAS--BEFORE I WAS ON THE STAND, AND THE

         6  DEAL WAS CONSUMMATED IN THE MIDDLE OF THE TRIAL.

         7           MORE SUBSTANTIVELY THAN THAT, WHAT THIS DOES NOT

         8  TELL YOU IS THAT NETSCAPE IS ACTUALLY PAYING COMPAQ IN

         9  ORDER TO GET ITS--WAS ACTUALLY PAYING COMPAQ IN ORDER TO

        10  GET NAVIGATOR ON THE--ITS BROWSER ON THE DESKTOP.  IT WAS

        11  PAYING THEM ADVERTISING SOMETHING SUPPOSED TO BE WORTH

        12  OVER $700,000.

        13           NOW. THERE ISN'T ANY DOUBT, I SUPPOSE, THAT IF

        14  NETSCAPE WERE WILLING TO PAY SUFFICIENT MONEY, IT COULD,

        15  IN FACT, GET OEM'S TO PUT IT ON THE DESKTOP.  THAT WOULD

        16  NOT MEAN THAT IT IS NOT SEVERELY DISADVANTAGED.  THAT'S

        17  CALLED RAISING RIVALS' COSTS.  AND IT IS, AT LEAST,

        18  MISLEADING TO SUGGEST THAT GEE, THIS IS JUST HAPPENING IN

        19  GENERAL.

        20           THE OTHER PART THAT'S QUITE MISLEADING, AND, IN

        21  FACT, CONTAINS A GREAT BIG MISTAKE, IS THE LAST BIT, THE

        22  ONE ABOUT PACKARD-BELL.  I WOULD MENTION THAT NEITHER--I

        23  SHOULD MENTION THAT NEITHER THE IBM PART OR THE

        24  PACKARD-BELL PART HAS TO DO WITH BEING ON THE DESKTOP.

        25  THESE ARE BEING DISTRIBUTED IN OTHER WAYS.
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         1           IT SAYS CD IN BOX PACKARD-BELL, PACKARD-BELL

         2  ACCOUNTS FOR TEN PERCENT OF U.S. CONSUMER SALES.  OKAY?

         3  THAT'S WRONG.  PACKARD-BELL MAY, IN FACT, ACCOUNT FOR TEN

         4  PERCENT OF U.S. CONSUMER SALES, BUT NETSCAPE IS NOT, IN

         5  FACT, BEING SHIPPED BY PACKARD-BELL WITH THE COMPUTERS

         6  THAT ACCOUNT FOR TEN PERCENT OF CONSUMER SALES.

         7  PACKARD-BELL SHIPS THE CD IN THE BOX CONTAINING NETSCAPE

         8  ONLY ON ITS SO-CALLED VERSA LINE.  THE VERSA LINE IS

         9  PRIMARILY A BUSINESS LINE OF COMPUTERS.

        10           AND EVEN IF YOU COUNT ALL THE VERSA LINE AS

        11  CONSUMERS, THAT LINE ACCOUNTS FOR ONLY ABOUT TEN PERCENT

        12  OF PACKARD-BELL'S SALES, WHICH MEANS THAT THIS NUMBER TEN

        13  PERCENT SHOULD, AT MOST, BE ONE PERCENT OF U.S. CONSUMER

        14  SALES; WHICH, IN TURN, BY THE WAY, MEANS THE TOTAL FOR

        15  THREE COMPANIES SHOULD NOT BE 31 PERCENT.  IT SHOULD BE ON

        16  THE ORDER OF, AT MOST, ABOUT 22 PERCENT.

        17           WHAT'S ALSO TRUE ABOUT THE CD IN THE BOX

        18  PACKARD-BELL IS THE FOLLOWING:  THIS IS NOT THE

        19  ACTION--THE ISSUE HAS TO DO HERE WITH WHETHER OR NOT

        20  NETSCAPE HAS HAD IT MADE DIFFICULT FOR IT TO GET ON THE

        21  MACHINES SHIPPED BY OEM'S AND MADE DIFFICULT, IN PART,

        22  BECAUSE THE OEM'S ARE FORCED TO INCLUDE NETSCAPE--INCLUDE

        23  IE AND, THEREFORE, PERFECTLY WELL NOT WISH TO INCLUDE

        24  ANOTHER ONE.

        25           WHAT THIS EXHIBIT DOESN'T TELL YOU IS THAT THE
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         1  PACKARD-BELL SENT SHIPMENTS EVEN ON THE VERSA MACHINES,

         2  ARE SHIPMENTS THAT ARE NOT BEING MADE IN A COMPUTER IN

         3  WHICH IE IS ALREADY NECESSARILY INSTALLED.  THIS IS AN

         4  INCIDENT WHICH OCCURS BECAUSE PACKARD-BELL TOOK ADVANTAGE

         5  OF AN OPTION OFFERED DURING THE CONSENT DECREE PROCEEDINGS

         6  AND SHIPS ITS CD WITH, I BELIEVE, A CHOICE OF IE OR

         7  NETSCAPE RATHER THAN HAVING TO PUT NETSCAPE, INSTALL

         8  NETSCAPE AND THEN DECIDE WHETHER TO HAVE--SORRY--RATHER

         9  THAN HAVING TO INSTALL IE AND THEN DECIDE WHETHER ALSO TO

        10  OFFER NETSCAPE.  IT'S IN A PARTICULARLY, AT LEAST

        11  MOMENTARILY, FREE SITUATION.

        12           SO, AS A REPRESENTATION OF WHAT, IN FACT, HAPPENS

        13  WHEN MICROSOFT IMPOSES THE LOADING OF IE, IT IS

        14  UNREPRESENTATIVE.  I THINK THAT'S IT.

        15  Q.   NOW, DEAN SCHMALENSEE--

        16  A.   NO, I'M SORRY, PERHAPS THAT ISN'T IT.  SORRY.  IT

        17  DOESN'T MATTER A WHOLE LOT, YOU KNOW.  EVEN APART FROM THE

        18  FACT THAT THE EXHIBIT, ON ITS FACE, THE EXHIBIT IS

        19  MISLEADING, AND IT DOESN'T REALLY DESCRIBE THE

        20  DIFFICULTIES THAT NETSCAPE HAS, EVEN IF THIS NUMBER SAYS

        21  THAT IT WERE RIGHT, THAT NETSCAPE WERE BEING SHIPPED ON 31

        22  PERCENT OF THE MACHINES, IT WOULDN'T MATTER TO THE

        23  APPROPRIATE CONCLUSION WHICH IS THAT NETSCAPE ISN'T BEING

        24  SHIPPED ANY LONGER ON ENOUGH MACHINES SO THAT USING THIS

        25  CHANNEL OF DISTRIBUTION IS LIKELY TO PROVIDE A
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         1  PLATFORM-SHIFTING EVENT, WHICH COULD LEAD TO THE

         2  CHALLENGING OF MICROSOFT'S OPERATING SYSTEM MONOPOLY.

         3  Q.   DEAN SCHMALENSEE ALSO TESTIFIED THAT BECAUSE USERS

         4  COULD DOWNLOAD NAVIGATOR, THAT WAS A PRACTICAL ALTERNATIVE

         5  TO INCLUDING NAVIGATOR IN THE OEM CHANNEL; DO YOU AGREE

         6  WITH THAT?

         7           MR. LACOVARA:  OBJECTION, AGAIN, YOUR HONOR,

         8  CHARACTERIZATIONS OF DEAN SCHMALENSEE'S TESTIMONY, I

         9  THINK--I DON'T THINK THAT'S AN ACCURATE CHARACTERIZATION.

        10  I THINK THE WITNESS SHOULD BE ASKED TO COMMENT ON THE

        11  SPECIFIC ASPECT OF THE DEAN'S TESTIMONY, AND THERE IS A

        12  NUMBER, I'M SURE, MR. BOIES COULD POINT TO.

        13           THE COURT:  CAN YOU REPHRASE YOUR QUESTION?

        14           MR. BOIES:  I CERTAINLY CAN, YOUR HONOR.  AND IF

        15  THAT IS NOT DEAN SCHMALENSEE'S TESTIMONY, I'M GLAD TO HEAR

        16  IT.

        17  BY MR. BOIES:

        18  Q.   IF SOMEBODY WERE TO BE SO FOOLISH AS TO TESTIFY

        19  DOWNLOADING WAS A PRACTICAL ALTERNATIVE TO INCLUDING IT

        20  WITH AN OEM, WHAT WOULD YOU SAY TO THAT, SIR?

        21  A.   WELL, I WOULD SAY HE WAS FOOLISH, BUT I WOULD SAY HE

        22  DOESN'T KNOW A WHOLE LOT ABOUT DOWNLOADING, AND THERE IS A

        23  GOOD DEAL OF TESTIMONY THAT IT TAKES A LOT OF TIME TO

        24  DOWNLOAD BROWSERS, THAT IT'S NOT A PARTICULARLY SIMPLE

        25  MATTER.  AND THAT TESTIMONY COMES, IN PART, FROM EITHER
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         1  MICROSOFT DOCUMENTS OR--I SUPPOSE, THAT DOESN'T MAKE IT

         2  TESTIMONY--MICROSOFT WITNESSES.

         3           IF YOU WILL LOOK AT GOVERNMENTS EXHIBITS 1845 AND

         4  1846, WHICH, CURIOUSLY ENOUGH, I HAVE IN FRONT OF ME, ONE

         5  OF THE THINGS ON IT IT LISTS WERE BETWEEN--THESE ARE

         6  STATEMENTS FROM MR. CHASE.

         7           THE COURT:  EXCUSE ME JUST A MINUTE.

         8           (PAUSE.)

         9           THE COURT:  I WANT TO RECESS AS CLOSE TO 4:30 AS

        10  WE CAN.  I HAVE TO DEAL WITH MY JURY AT THAT TIME, SO PICK

        11  A CONVENIENT TIME.

        12           MR. BOIES:  THANK YOU, YOUR HONOR.  I WILL.

        13           THE COURT:  SORRY FOR INTERRUPTING YOU.

        14           THE WITNESS:  THANK YOU, YOUR HONOR.

        15           THE COURT:  SURELY.

        16           THE WITNESS:  IF YOU LOOK AT EXHIBIT 1845, THE

        17  TOP PART, IT GIVES MR. CHASE'S ESTIMATE OF THE NUMBER OF

        18  NETSCAPE USERS WHO ACQUIRED THEIR CURRENT PRIMARY BROWSER

        19  BY DOWNLOADING.  AND THIS IS WHOEVER ACQUIRED IT BY

        20  DOWNLOADING.  FOR THE FIRST QUARTER OF '98, IT'S 6.7

        21  MILLION.  FOR THE THIRD QUARTER OF '98, IT'S 6.7 MILLION.

        22  THAT DOES NOT SUGGEST THAT BETWEEN THE FIRST QUARTER AND

        23  THE THIRD QUARTER OF '98, DOWNLOADING WAS A SERIOUSLY

        24  IMPORTANT CHANNEL DISTRIBUTION FOR NETSCAPE.

        25           AND AS A MATTER OF FACT, IF YOU LOOK AT
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         1  EXHIBIT 1846, IN THE FIRST QUARTER OF 1998, 2.9 MILLION

         2  SAID THAT THEY ACQUIRED THEIR MICROSOFT BROWSER--THESE ARE

         3  THE MICROSOFT MAIN BROWSER USERS--2.9 MILLION SAID THEY

         4  ACQUIRED THAT BY DOWNLOADING.  AND THE THIRD QUARTER OF

         5  1998, ONLY 2.8 MILLION SAID THEY ACQUIRED IT BY

         6  DOWNLOADING.  THAT SAYS THAT IT CAN'T BE TRUE THAT A LOT

         7  OF PEOPLE DOWNLOAD IN BETWEEN THOSE TWO QUARTERS.

         8           IN FACT, WHAT HAPPENS IS SOME OF THE PEOPLE WHO

         9  HAD ACQUIRED THEIR PRIMARY BROWSER BY DOWNLOADING

        10  PREVIOUSLY HAD NOW, I ASSUME, OBVIOUSLY ACQUIRED IT

        11  TOGETHER WITH WINDOWS 98 IN THE INTERVAL, AND NO LONGER

        12  REPORTED THEMSELVES AS HAVING ACQUIRED IT BY DOWNLOADING.

        13  BUT THESE EXHIBITS DO NOT SUGGEST--IN FACT, THESE EXHIBITS

        14  FLY RIGHT IN THE FACE OF THE SUGGESTION THAT DOWNLOADING

        15  IS AN IMPORTANT CHANNEL OF DISTRIBUTION FOR BROWSERS ANY

        16  LONGER.

        17  Q.   IF ANYONE WERE TO SUGGEST THAT DIRECT-MAIL

        18  DISTRIBUTION WAS A PRACTICAL ALTERNATIVE FOR DISTRIBUTING

        19  BROWSERS COMPARED TO THE OEM CHANNEL OR THE ISP CHANNEL,

        20  WHAT WOULD YOUR RESPONSE TO THAT BE?

        21  A.   MY RESPONSE WOULD BE--I SUPPOSE YOU COULD LEAD A

        22  HORSE TO WATER BUT YOU CAN'T MAKE HIM DRINK.  YOU CAN

        23  DISTRIBUTE BY DIRECT MAIL CD'S WITH THE BROWSER ON IT.

        24  THAT WON'T NECESSARILY GET THE BROWSER INSTALLED.

        25           WHAT'S MORE, IT IS A RELATIVELY COSTLY WAY OF
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         1  DISTRIBUTION.

         2           THERE IS TESTIMONY IN THE RECENT DEPOSITION OF

         3  ONE OF THE AOL WITNESSES--I CAN'T REMEMBER WHICH ONE--WHO

         4  SAID WHAT MAKES SENSE FOR AOL--THIS WAS AT ONE TIME,

         5  ANYWAY--AN EFFECTIVE WAY OF DOING IT--I THINK IT'S

         6  AOL--BECAUSE WE GOT A YEARLY--WE GOT A STREAM OF REVENUES

         7  IF WE WERE SUCCESSFUL, BUT IT WASN'T A GOOD WAY OF DOING

         8  IT FOR BROWSERS.

         9  Q.   NOW, YOU MENTIONED INCREASING COSTS THERE, AND

        10  EARLIER YOU TALKED ABOUT RAISING RIVALS' COSTS.

        11           IS RAISING RIVALS' COSTS SOMETHING THAT IS

        12  WELL-RECOGNIZED AND CONVENTIONALLY RECOGNIZED WITHIN

        13  ECONOMICS AS A WAY OF EXCLUDING COMPETITION OR AS AN

        14  ANTICOMPETITIVE PRACTICE?

        15  A.   YES.  THE THEORY OF RAISING RIVALS' COSTS, I THINK,

        16  IS NOW WELL-STUDIED AND DOCUMENTED IN THE LITERATURE.  IT

        17  GOES BACK TO--I KNOW IT GOES BACK TO AN ARTICLE BY STEVEN

        18  SALLUP.  I THINK THE ORIGINAL ARTICLE IS BY SALLUP AND--IT

        19  WILL COME TO ME--DAVID--I WILL FIND OUT.  I HAD IT A

        20  MINUTE AGO, AND YES, HE, TOO, IS A FORMER MIT STUDENT; NOT

        21  MINE, HOWEVER.

        22           OTHER PEOPLE HAVE WRITTEN A GREAT DEAL ABOUT IT,

        23  AND IT'S GENERALLY UNDERSTOOD THAT RAISING RIVALS' COSTS,

        24  AS DEFINED IN THOSE PAPERS, IS A WAY IN WHICH IT IS

        25  POSSIBLE TO GAIN ANTICOMPETITIVE ADVANTAGE OVER RIVALS AND
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         1  HAMPER COMPETITION.

         2  Q.   AND HAVE YOU REACHED A CONCLUSION AS TO WHETHER

         3  MICROSOFT'S CONDUCT, IN THE CONTEXT OF THIS CASE, IS

         4  ANTICOMPETITIVE AS A TECHNIQUE OF RAISING RIVALS' COSTS?

         5  A.   YES, IT CERTAINLY IS.

         6  Q.   AND HAVE YOU REVIEWED MICROSOFT DOCUMENTS TO

         7  DETERMINE WHETHER MICROSOFT WAS AWARE AT THE TIME OF WHAT

         8  IT WAS DOING AND, IN FACT, INTENDED THE RESULTS THAT IT

         9  ACHIEVED?

        10  A.   MICROSOFT CERTAINLY INTENDED TO CLOSE OFF NETSCAPE AS

        11  MUCH AS POSSIBLE FROM THE MAIN CHANNELS OF DISTRIBUTION,

        12  AND YES, I HAVE SEEN DOCUMENTS THAT SUGGEST THAT.

        13  Q.   NOW, THERE HAS BEEN SOME TESTIMONY IN DISCUSSION,

        14  SINCE YOU TESTIFIED, AS TO THE EXTENT TO WHICH THE

        15  AOL/NETSCAPE MERGER MAY OR MAY NOT AFFECT MICROSOFT'S

        16  MONOPOLY POWER.

        17           IS THAT SOMETHING THAT YOU'VE LOOKED AT?

        18  A.   YES.  THERE WAS DISCUSSION OF THAT BEFORE I

        19  TESTIFIED, TOO.

        20  Q.   AND WHAT HAVE YOU CONCLUDED?

        21  A.   WELL, I EXPLAINED BRIEFLY THE LAST TIME, AND I'M

        22  PREPARED AND, INDEED, I WOULD LIKE TO EXPAND SLIGHTLY ON

        23  THAT DESCRIPTION, WHY, AS A MATTER OF ECONOMIC ANALYSIS,

        24  IT IS VERY, VERY UNLIKELY TO BE TRUE THAT THAT ACQUISITION

        25  IS GOING TO CHANGE AOL'S DECISION AS TO WHETHER TO
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         1  ADOPT--CONTINUE ADOPTING INTERNET EXPLORER.  I NOTE THAT

         2  AOL RENEWED, IN FACT, ITS CONTRACT WITH MICROSOFT IN

         3  JANUARY OF THIS YEAR, SO THE DECISION WON'T COME UP AGAIN

         4  FOR ANOTHER TWO YEARS, AND I HAVE NOTED DEPOSITION

         5  TESTIMONY FROM, I THINK, MR. CASE, IN PARTICULAR, OF AOL

         6  WHO SAYS ESSENTIALLY, "I'M GOING TO KEEP DOING

         7  THAT"--CERTAINLY FROM SOMEBODY AT AOL WHO SAYS "WE'RE

         8  NOT--WE'RE NOT GOING TO CHANGE THAT.  WE'RE GOING TO KEEP

         9  ON IN THAT WAY.  WE DIDN'T ACQUIRE NETSCAPE FOR THEIR

        10  BROWSER" AND SO ON.  AND I THINK WHAT HE SAYS MAKES

        11  PERFECTLY GOOD SENSE.  IT'S IN LINE WITH THE ANALYSIS OF

        12  WHAT THEY OUGHT TO BE SAYING AND DOING.

        13  Q.   DO YOU BELIEVE THAT THE FACT THAT AOL WAS INTERESTED

        14  IN ACQUIRING NETSCAPE, AND DID SO FOR A SUBSTANTIAL AMOUNT

        15  OF MONEY, IS AN INDICATION THAT NETSCAPE'S BROWSER

        16  BUSINESS WAS SUCCESSFUL?

        17  A.   NO, THAT ISN'T, IN FACT, WHY AOL ACQUIRED NETSCAPE.

        18  THEY ACQUIRED IT, IN LARGE PART, FOR THEIR PORTAL

        19  BUSINESS; THAT'S WHAT THEY SAY.

        20           AND ONE CAN ALSO EQUALLY SAY THAT WHAT IT SHOWS

        21  IS--HOW SHALL I PUT IT?--NETSCAPE'S BROWSER BUSINESS WAS

        22  BROKEN, AND NETSCAPE HAD TO SELL OUT.

        23           IN FACT, IT IS NOT TRUE, SO FAR AS ONE CAN TELL,

        24  THAT NETSCAPE WAS ACQUIRED RELATIVE, TO THE BEST ONE CAN

        25  DO, RELATIVE TO COMPARABLE SALES.  IT'S NOT TRUE THAT THEY
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         1  WERE REQUIRED FOR A LARGE AMOUNT OF MONEY OR UNUSUALLY

         2  LARGE AMOUNT OF MONEY, SUGGESTING THAT, IN FACT, VERY

         3  LITTLE, IF ANYTHING, WAS PAID FOR THE BROWSER BUSINESS.

         4  Q.   WHEN YOU SAY OR WHEN YOU REFERRED TO COMPARABLE

         5  SALES, CAN YOU EXPLAIN WHAT YOU'RE TALKING ABOUT.

         6  A.   YES.  THEY'RE NOT EXACTLY COMPARABLE.  THIS IS NOT

         7  SIMPLE.  THERE ARE NOT A LOT OF SALES EVERY DAY OF THIS

         8  SORT OF THING.  THERE HAVE BEEN TWO OTHER TRANSACTIONS

         9  RECENTLY FOR PORTAL BUSINESSES.  ONE WAS THE ACQUISITION

        10  BY YAHOO OF GEOCITIES, AND ONE WAS THE ACQUISITION OF

        11  EXCITE BY, I THINK, AT-HOME.  IN BOTH CASES, THE ACQUIRING

        12  COMPANIES HAD PORTAL BUSINESSES OF DIFFERENT TYPES.

        13           IF ONE LOOKS AT THOSE TRANSACTIONS AND THEN TRIES

        14  TO MEASURE THE IMPORTANCE OF THE PORTAL BY VARIOUS

        15  MEASURES, SORT OF HOW MUCH ADVERTISING REALLY WAS INVOLVED

        16  BY USING THE PORTAL AND SO FORTH, ONE COMES TO THE

        17  CONCLUSION--AND DOES THE SAME FOR NETSCAPE--ONE COMES TO

        18  THE CONCLUSION THAT NETSCAPE WAS ACQUIRED, IF ANYTHING,

        19  CHEAPLY.

        20           NOW, I WANT TO SAY AGAIN, THOSE ARE NOT EXACT

        21  COMPARABLES.  EACH OF THESE COMPANIES IS DIFFERENT FROM

        22  THE OTHER, BUT TO THE EXTENT ONE CAN FIND OUT, IT ISN'T

        23  TRUE THAT NETSCAPE WAS BEING ACQUIRED FOR AN UNREASONABLE

        24  AMOUNT OF MONEY.

        25  Q.   NOW, YOU TESTIFIED THAT MR. CASE AND OTHERS HAD
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         1  DECLINED TO SWITCH TO THE NETSCAPE BROWSER EVEN AFTER THEY

         2  HAD MADE THE DECISION TO MERGE.

         3           ASSUMING MICROSOFT DID SWITCH TO THE NETSCAPE

         4  BROWSER AT SOME POINT IN THE FUTURE, WOULD THAT AFFECT

         5  YOUR CONCLUSIONS?

         6  A.   I THINK YOU MISSPOKE, OR I MISHEARD.  YOU MEAN IF

         7  AOL--ASSUMED THAT AOL SWITCHED--

         8  Q.   YES, THAT'S WHAT I MEANT.

         9  A.   --WOULD IT AFFECT MY CONCLUSIONS.

        10           NO, I THINK IT'S TOO LATE.  AND I THINK MICROSOFT

        11  BELIEVES IT'S TOO LATE.  IT'S NOT NECESSARY TO HAVE DRIVEN

        12  NETSCAPE TO ZERO IN ORDER FOR MICROSOFT TO PREVENT THE

        13  PLATFORM-SHIFTING EVENT OR THE PLATFORM-THREATENING EVENT

        14  THAT MIGHT THREATEN THEIR OPERATING SYSTEM MONOPOLY.  IT'S

        15  ENOUGH FOR MICROSOFT TO HAVE OBTAINED A HIGH SHARE OF THE

        16  BROWSER BUSINESS, AND THAT THEY'VE DONE.  THERE IS AN

        17  E-MAIL SOMETIME LAST YEAR FROM, I THINK, MR. MEHTA, THAT

        18  BASICALLY SAYS "I THINK WE WON THE WAR."  AND THAT WAS AT

        19  A TIME WHEN INTERNET EXPLORER'S SHARE WAS, IF ANYTHING, A

        20  LITTLE BIT OVER 50 PERCENT AND NOT PROJECTED TO GO A WHOLE

        21  LOT HIGHER.

        22  Q.   WITH RESPECT TO AOL WITH THE ADDITION OF NETSCAPE, IS

        23  AOL IN A POSITION TO THREATEN MICROSOFT'S OPERATING SYSTEM

        24  MONOPOLY?

        25  A.   NO.  AOL IS NOT A PRODUCER--IS NOT ITSELF GOING TO
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         1  PRODUCE AN OPERATING SYSTEM.  THE ONLY WAY IN WHICH AOL

         2  COULD THREATEN MICROSOFT'S OPERATING SYSTEM MONOPOLY WOULD

         3  BE TO GO HEAVILY OR TRY TO PROMOTE THE BROWSER VERY

         4  HEAVILY AND CREATE A PLATFORM WHICH WOULD HAVE THE

         5  PROPERTY THAT OTHER PEOPLE WOULD WRITE TO IT.  AND THAT,

         6  IN TURN, WOULD ALLOW OTHER VENDORS TO THREATEN MICROSOFT'S

         7  MONOPOLY DIRECTLY.  AOL, ITSELF, WOULD NOT TAKE OVER THE

         8  MONOPOLY PROFITS.

         9           THAT'S ONE OF THE REASONS, BY THE WAY, FOR

        10  BELIEVING THAT--ONE OF THE REASONS ECONOMIC ANALYSIS SAYS

        11  YOU'RE NOT GOING TO MAKE THE SWITCH.  MICROSOFT HAS TOO

        12  BIG AN INCENTIVE TO PREVENT IT.

        13  Q.   IS THERE ANYTHING ABOUT THE AOL NETSCAPE MERGER THAT,

        14  IN YOUR JUDGMENT, AFFECTS MICROSOFT'S PC OPERATING SYSTEM

        15  MONOPOLY?

        16  A.   NO, THERE ISN'T.

        17           MR. BOIES:  YOUR HONOR, THIS IS A CONVENIENT

        18  TIME.  I GOT ABOUT ANOTHER HALF HOUR OR SO, SO I WILL

        19  FINISH EARLY TOMORROW.

        20           THE COURT:  ALL RIGHT.  WE WILL PICK IT UP AGAIN

        21  TOMORROW MORNING AT 10:00.

        22           (WHEREUPON, AT 4:14 P.M., THE HEARING WAS

        23  ADJOURNED UNTIL 10:00 A.M., THE NEXT DAY.)

        24

        25
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         1                   CERTIFICATE OF REPORTER

         2

         3           I, DAVID A. KASDAN, RMR, COURT REPORTER, DO

         4  HEREBY TESTIFY THAT THE FOREGOING PROCEEDINGS WERE

         5  STENOGRAPHICALLY RECORDED BY ME AND THEREAFTER REDUCED TO

         6  TYPEWRITTEN FORM BY COMPUTER-ASSISTED TRANSCRIPTION UNDER

         7  MY DIRECTION AND SUPERVISION; AND THAT THE FOREGOING

         8  TRANSCRIPT IS A TRUE RECORD AND ACCURATE RECORD OF THE

         9  PROCEEDINGS.

        10           I FURTHER CERTIFY THAT I AM NEITHER COUNSEL FOR,

        11  RELATED TO, NOR EMPLOYED BY ANY OF THE PARTIES TO THIS

        12  ACTION IN THIS PROCEEDING, NOR FINANCIALLY OR OTHERWISE

        13  INTERESTED IN THE OUTCOME OF THIS LITIGATION.

        14

                                    ______________________

        15                          DAVID A. KASDAN
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